UGC NET 2021 Mass Communication N Journalism

Topic:- 63MassComJourn_A

1) Media communication is often compared to a:

RifSn Jar B geren Yr1: fowafeRaa A &t siedl 3 ¢

[Question ID = 2096][Question Description = S2_qSNz_PG_MCJ_QO01]
1. Political outfit/3swefiferm Jisiser [Option ID = 8381]

2. Marketing proposition/fduvrer aa@ara=r [Option ID = 8382]

3. Tool of morality/aiferaser @ eror @1 3udbzur [Option ID = 8383]

4. Social organism/menfSis oot [Option ID = 8384]

Correct Answer :-
e Political outfit/2rsmwfiftras Jstoer [Option ID = 8381]

2) Which one of the following pairs of media was identified by James Carey as illiterate media?

forgotfer¥aa 3 3 fopa fhifan oo bl usarel foregrR faifsan’ @& su 3 &I off ?

[Question ID = 2097][Question Description = S2_qSNz_PG_MCJ_Q02]
Radio and Film/3f3=0 3fiz fiscar [Option ID = 8385]

Film and Poster/ftseat siiz dizez [Option ID = 8386]

Radio and Newspaper/3f&:i 3fiz @rar ug [Option ID = 8387]

Newspaper and Film/2@mar uq s fisear [Option ID = 8388]

A w N =

Correct Answer :-
e Radio and Film/3f3=h siiz fisear [Option ID = 8385]

3) Phenomenistic theory, more commonly known as Reinforcement theory, was propounded by:

zoaydadl Rigia BRI s dik ur yorderel Rigia &l s &t siedl 3, @ yfiucs 9 :

[Question ID = 2098][Question Description = S2_qSNz_PG_MCJ_QO03]
Claude Shannon/@rifs dietet [Option ID = 8389]

Wilbur Schramm/fdcaz Fa@a[Option ID = 8390]

Paul Lazarsfeld/dfet cisries [Option ID = 8391]

Joseph Klapper/siRw aciuz [Option ID = 8392]

A WN =

Correct Answer :-
e (Claude Shannon/aciis tetet [Option ID = 8389]

4) The phenomenon/assumption that ‘'media affects others and not me' is termed as:

g uf¥eacei/gafoiret o6 "fif3n A s cafes genfaa ke 3; 3 o1él, @) a=Ir @al Sl 3 :

[Questlon ID = 2099][Question Description = S2_qSNz_PG_MCJ_Q04]
Media effect/fifs=n gama [Option ID = 8393]

. Third person effect/sme g&u gema [Option ID = 8394]

. Second person effect/sewp1 gy garra [Option ID = 8395]

. Media influence/fifS=n 3 sifdgfea alom [Option ID = 8396]

AWN—\

Correct Answer :-
o Media effect/fif=n gsma [Option ID = 8393]

5) Mikhail Bakhtin's theoretical approach is used to focus on participation in the development of:

RBrarsa affsae @ Agifere SurEr o1 SuRe orefiRad fmRia w2 3 AFsPar uz earer dfoga ol D YRirsienet e Sirar 3 :
[Question ID = 2100][Question Description = S2_qSNz_PG_MCJ_QO05]

. Epistemological priorities/smemefiai 3 JAsdg grerfdamamn [Option ID = 8397]

. Pro-social content/mnfSrs fwrer @ uer 3 [Option ID = 8398]

. Active audience/ai sme® [Option ID = 8399]

. Concrete evolution of perception/yeIgisiier &1 311 Fcica [Option ID = 8400]

A W N -

Correct Answer :-
e Epistemological priorities/stomefiai 3 Jsdg grefiamn [Option ID = 8397]



6) Which of the following organisation has been using puppets to propagate their services:

forgsiferRae 3 21 Plel AT FvIod Uil Adsli & Yar D fére doyaferil 1 IWRIPT B2 BT 3 ?
[Question ID = 2101][Question Description = S2_qSNz_PG_MCJ_Q06]

LIC/wet 3 2t [Option ID = 8401]
RBI/3m dt 3 [Option ID = 8402]
. SBI/wa dt amg [Option ID = 8403]
. UTI/g ¢ s [Option ID = 8404]

A w N =

Correct Answer :-
e | |C/uet 3 it [Option ID = 8401]

7) The present international information order reflects:

acaret siaReTsER IYaon saazen fopl yfafafdad ol 3 :

[Question ID = 2102][Question Description = S2_qSNz_PG_MCJ_Q07]
1. Social equity on a global scale/faea 12 w2 @i 2meiar [Option ID = 8405]

2. Ideological subversion and submission/fmemr sistor iz snefierar [Option ID = 8406]
3. Counter measures for contra- flow/fudla yars @ fere yfer-surr [Option ID = 8407]

4. Corporate hegemony/®ruie siférger [Option ID = 8408]

Correct Answer :-
® Social equity on a global scale/fdea a2 w2 amwnfds Aw=rar [Option ID = 8405]

8) The early opposition to the dominant paradigm emanated from:

gaa duracil IRISEH @I YRS fRYer Scucet gail :

[Question ID = 2103][Question Description = S2_qSNz_PG_MCJ_Q08]

1. Asian moderates/ufSrms orer uer 31 [Option ID = 8409]

2. African tribes/ s} & Serenferil 3t [Option ID = 8410]

3. European rightists/zRIu @ afdmr uférii 31 [Option ID = 8411]

4. Latin American socialists/cifeot @il Jamorarct fdaremrt @ soRuRrRI 3 [Option ID = 8412]

Correct Answer :-
e Asian moderates/ufrRrS orer ue 3 [Option ID = 8409]

9) When an event is given contradictory interpretations by individuals involved, it is called:

Sid fopit gareon (sdc) ot dAalia wiftbl grR1 &l o1 e 3 fARIemIRT 3t aY 3 Pal SIidl & -

[Question ID = 2104][Question Description = S2_qSNz_PG_MCJ_Q09]

1. Fake News/@efRa waR (b o3st) [Option ID = 8413]

2. Editorialising/ziurcdbRicsur [Option ID = 8414]

3. Roshomon effect/3eleiter gomra [Option ID = 8415]

4. Cognitive dissonance/3isiolicaras faRiaifgar [Option ID = 8416]

Correct Answer :-
e Fake News/@gfid @R (Bb o=yel) [Option ID = 8413]

10) Which among the following journalists wrote the book Interview with History?

forgatferRaa 3 3 bl ugeR "seex] fig 33" yzaew @ Werran & ?
[Question ID = 2105][Question Description = S2_qSNz_PG_MCJ_Q10]

1. Barbara Walsh/azs=1 dcar [Option ID = 8417]
2. Tim Sebastian/fa AdRceer [Option ID = 8418]
3. Oriana Fallaci/snf¥smmen deizft [Option ID = 8419]
4. Umberto Eco/sw@az & wat [Option ID = 8420]

Correct Answer :-
e Barbara Walsh/s=zs=r1 dcer [Option ID = 8417]

11) Which among the following methods is used to open up the interviewee in a conversation?

fep3cdl ardferra 3 ArgicdR Sol arct @I dldl &g Yged ol @ fere forgoifeilRaa 3 A v ugler @1 Suier &= sirar 3 ?

[Question ID = 2106][Question Description = S2_qSNz_PG_MCJ_Q11]



. Match making/da difdper (Jdtetor) [Option ID = 8421]

. GOAL Method/siter aiers (et ugsfer) [Option ID = 8422]

. FORK Method/wiwm dters (wler ugher) [Option ID = 8423]

. Silence treatment/3msei diedic (9@ waasrR) [Option ID = 8424]

A W N -

Correct Answer :-
e Match making/dta @ifepsr (Iieter) [Option ID = 8421]

12) Which among the following structure/technique is used for writing news events with dramatic action?

SlfcchRI e @ AT AT AARIR ol D fere forgotifcoe 3 A b s/ daeilas @1 YIie1 v sirdr 3 ?

[Question ID = 2107][Question Description = S2_qSNz_PG_MCJ_Q12]

1. Section technique/¥is awelles (Adoret cwaflas) [Option ID = 8425]

2. Hourglass Structure/3masciRi Jivdel (3mazecR 3¢aa?) [Option ID = 8426]

3. List Technique/3fa ameile (e e@oflar) [Option ID = 8427]

4. The Wall Street Journal Structure/g aret 3¢c Sholet ol (g aret 3¢ie Shofet Icaaz) [Option ID = 8428]

Correct Answer :-
® Section technique/xds amolle (ol cwolld) [Option ID = 8425]

13) Which of the following media is criticised as "Empathy Machine" by Chris Milk in 2015:

forgsiferRae 3 A fpar Rifsam &bt 2015 3 g Ried gr1 "Fsropfer Aolier” @ wu 3 sirclon &l orf 3 :
[Question ID = 2108][Question Description = S2_qSNz_PG_MCJ_Q13]

. Television/ecfifastor [Option ID = 8429]

. Mobile/sharset [Option ID = 8430]

. Augmented Reality/>iafefa arafdaar [Option ID = 8431]
Virtual Reality/smsmeft arzafdaar [Option ID = 8432]

A W N -

Correct Answer :-

® Television/2cfifdsior [Option ID = 8429]

14) Advertising that promotes legally prohibited intoxicant products in the disguise of some other products, falls in the
category of:

fora1 fasaet 9 faférs u A yfftrg e Scurct ol o5t siea Icure & 9315u 3 gerar Sd 3 dl as forerferRaa &t guft 3t amar 3 :

[Question ID = 2109][Question Description = S2_qSNz_PG_MCJ_Q14]
1. Abstract advertising/meyd fasmuet [Option ID = 8433]

2. Consumer advertising/3usircpr fasmuat [Option ID = 8434]

3. Surrogate advertising/yfeifor fasmaet [Option ID = 8435]

4. Trade advertising/=mufs® fismuet [Option ID = 8436]

Correct Answer :-
e Abstract advertising/me fasiuet [Option ID = 8433]

15) The term describing perceived brand value in the minds of the customer is:

el @ FHol 3 yeafdies gis et 6 fadaon @ fere yzep ug 3 @

[Question ID = 2110][Question Description = S2_qSNz_PG_MCJ_Q15]
1. Brand identity/qis smssfed (gis uf¥arr) [Option ID = 8437]

2. Brand equity/gis sferact (gis sfaract) [Option ID = 8438]

3. Brand image/qfs st (gis &t ofd) [Option ID = 8439]

4. Brand loyalty/qis clrncet (gis & feamotiian [Option ID = 8440]

Correct Answer :-
e Brand identity/qis amssfect (gis uf¥arr) [Option ID = 8437]

16) Buzz marketing is a trend in word-of-mouth communication with an effort to reach out to:

3js1 Ricsicel (a1 afessr) AiRaw Har # ve ygfa 3 R foretifod A sifierr o YRt e strar 3 ¢

[Question ID = 2111][Question Description = S2_qSNz_PG_MCJ_Q16]
1. Older consumers/qig 3usirebt [Option ID = 8441]

2. Younger consumers/fdoliz 3usircpt [Option ID = 8442]

3. Women consumers/afget 3usiier [Option ID = 8443]

4. Children consumers/aret 3usirepr [Option ID = 8444]

Correct Answer :-
e Older consumers/dic 3usitcpr [Option ID = 8441]



17) The concept of 'engineering consent’ for an organization's goal, is the pioneering thought of:

fop2il JoToet & cg bt Yifft 3q "HsaAfer foraaior &Y Fieuon forfeRaa 3 A fperd! YadoreRt fiar 3 :
[Question ID = 2112][Question Description = S2_qSNz_PG_MCJ_Q17]

. Robert Kaiser/3fac @22 [Option ID = 8445]

. William Wolff Smith/faferer 3ew Rter [Option ID = 8446]
. George Creel/sifsf ajfer [Option ID = 8447]

. Edward Bernays/uvsars @oft [Option ID = 8448]

A w N =

Correct Answer :-
e Robert Kaiser/3faé @r [Option ID = 8445]

18) In PR, 'provocation’ is a technique which is used for:

SIGRIIUD 3, "JDIUc b amolid 3 fSrIm! YRileI fordifiea o fere e simar 3 :

[Question ID = 2113][Question Description = S2_qSNz_PG_MCJ_Q18]
PR Strategy/sorRieuas orf foife a1 ws o [Option ID = 8449]

PR Planning/sterisuds Aster forefor [Option ID = 8450]

Propaganda/quswst [Option ID = 8451]

Publicity/garz [Option ID = 8452]

A WN -

Correct Answer :-
® PR Strategy/SoRwucs Brf foIfer =m0 s aen [Option ID = 8449]

19) Which one of the following is called the Magna Carta of Public relations?

forgoifeiRaa & A A SrorRIFUd @1 AoolIdIct BaI SIIAr 3 :

[Question ID = 2114][Question Description = S2_qSNz_PG_MCJ_Q19]

. Code of Professional Standards/cmaznRic sierd 2ifaar [Option ID = 8453]

. Accreditation in Public Relations/sier J#uds 3 yemrrer [Option ID = 8454]

. Code of Athens/wd 3ifdar (ors sifw wdi) [Option ID = 8455]

. UN Declaration of Human Rights/3RJcp g e ot airerarfairi ot diwvn uef [Option ID = 8456]

A W N -

Correct Answer :-
e Code of Professional Standards/=ma=uR® amere 2ifdar [Option ID = 8453]

20) The other name for public relations is:

SIGIRIFUD BT 3163 ofld & -

[Question ID = 2115][Question Description = S2_qSNz_PG_MCJ_Q20]
. Propaganda/#ei-yar [Option ID = 8457]

. Press agency /% usift [Option ID = 8458]

. Persuasive publicity/smjererpRt gar [Option ID = 8459]

. Media linkage/faif&=n 2iuas [Option ID = 8460]

A w N =

Correct Answer :-
® Propaganda/sei-yar [Option ID = 8457]

21) The automatic suspension of Article 19 of the constitution of India during internal emergency was revoked by:
3l 3MUramIel @ SlRIel MRARI JAferst I siofeds 19 @l ¥aa: forciae fowsiifea gRI yferiea e sri o ©
[Question ID = 2116][Question Description = S2_qSNz_PG_MCJ_Q21]

. The 42nd constitutional amendment/42 ai 2ifderet foiterer [Option ID = 8461]
. The 4374 constitutional amendment/43 di 3ifeerer ioheror [Option ID = 8462]
. The 44t constitutional amendment/44 i 3ifderror 3ieherst [Option ID = 8463]
. The 45t constitutional amendment/45 ai =ifderer ettt [Option ID = 8464]

A W N -

Correct Answer :-
e The 42™ constitutional amendment/42 ar iferor Jigheror [Option ID = 8461]

22) Article 361A, inserted by the 44th constitutional amendment is related to:
44 9 ifgenet 9Nl GRI 3id: FeIftd 3gcds 361 '@ forworfeiRaa 3 2 Rl Adfi@a 3 ©

[Question ID = 2117][Question Description = S2_qSNz_PG_MCJ_Q22]

Right to privacy/fersiar @ siféierz [Option ID = 8465]

Reporting legislative, and parliamentary proceedings/faemrft siiz Jiictr wriaf:i &t Buifdst [Option ID = 8466]
Contempt of court/w=mricrr 6t sadreon [Option ID = 8467]

Film censorship/fiscar 3erfom [Option ID = 8468]

AW N =



Correct Answer :-
e Right to privacy/fowiar o sifeier [Option ID = 8465]

23) Which of the following entitiles a media person for qualified privilege?

forgoifeiRaa & A o= f¥3if3en @l &l sidw fadruIferpr @1 bR dotar 3 ?

[Question ID = 2118][Question Description = S2_qSNz_PG_MCJ_Q23]

1. Reproduction of a defamatory statement/smareIcrt acber &t gat: ygfer [Option ID = 8469]

2. Publication of a false statement/fdean @erer @1 yasioret [Option ID = 8470]

3. Statements made while performing a duty without malice/wder @1 forafs @l ge g3t forIA @ fdon f&w s awea [Option ID = 8471]
4. Imputation of illegitimacy/a@e dlot @1 3mRiu [Option ID = 8472]

Correct Answer :-
® Reproduction of a defamatory statement/smaeeidRt acber 6t gor: gqfer [Option ID = 8469]

24) The right of media to know, in any country of the world, is considered:
faea @ fop=fl st o1 3 Bif3em @Y yga siroral @1 3if2rdR Alelr Sirer 3 :

[Question ID = 2119][Question Description = S2_qSNz_PG_MCJ_Q24]
. Absolute/forter [Option ID = 8473]

. Infinite/srfifdra [Option ID = 8474]

. Non-legal/3t>-fafémme [Option ID = 8475]

. Limited/=fféw [Option ID = 8476]

A W N -

Correct Answer :-
® Absolute/forust [Option ID = 8473]

25) In media organizations, one can find the absence of:
f3if3=en Fero0il 3 forotifsa o1 smma 3t Awarn 3 :

[Question ID = 2120][Question Description = S2_qSNz_PG_MCJ_Q25]
. Information flow/ e yars (sowfdiore weil) [Option ID = 8477]

. Timeline/wre foreafzur (ewsdtenser) [Option ID = 8478]

. Unity of command/ et @t vavea (forct sifts watis) [Option ID = 8479]

. Job performance/®ri forurger (sifar wewidtzr) [Option ID = 8480]

A W N -

Correct Answer :-
e [nformation flow/3ae yars (sewidieret uct) [Option ID = 8477]

26) A new issue emerging in many countries of the world in relation to media operations is:

Rif3a @ PRIt o Ader 3 fda @ ggd A Soll A IR T oRIT JET 3 :

[Question ID = 2121][Question Description = S2_qSNz_PG_MCJ_Q26]

1. Government ownership of media/fifSm @1 3r®E Faifica [Option ID = 8481]

2. Privatisation of media/fif&=n @1 forsfiaszur [Option ID = 8482]

3. Free software for media production/ffEn yqfer forfor @ fere for:gje 2fucdzrz [Option ID = 8483]
4. Media cartelization/fdif3n 3curga i fowifur [Option ID = 8484]

Correct Answer :-
® Government ownership of media/f#fSm a1 st Faifdca [Option ID = 8481]

27) The technological task approach in media management is which one of the following in character?

fifsem yder 3 gienfrbRI ori Suerr & yofer 3 :

[Question ID = 2122][Question Description = S2_qSNz_PG_MCJ_Q27]
. Functional/y@riicam [Option ID = 8485]

. Theoretical/3gifere [Option ID = 8486]

. Remote/3gz [Option ID = 8487]

. Indirect/smeer [Option ID = 8488]

A W N -

Correct Answer :-
® Functional/ywmrifcaa [Option ID = 8485]

28) The final edited version of a TV commercial for client's approval is called:

e bl Fdimicr d feru eelifdsion & ameE1 A aIviiSae® sy @I siferr FU A AUIca AU DI 8 :
[Question ID = 2123][Question Description = S2_qSNz_PG_MCJ_Q28]



Fine print/wrsa fYe (3jga Agur) [Option ID = 8489]
Exact print/saside fie (e aigun) [Option ID = 8490]
Clear print/ferR fie (3use #gun) [Option ID = 8491]
Answer print/3meR fie (gegaR jgur) [Option ID = 8492]

A W N -

Correct Answer :-

® Fine print/wrsal fie (Jg# Agur) [Option ID = 8489]

29) Which among the following describes Cyber Space as 'a consensual hallucination’ experienced daily by billions of
legitimate operators in every nation?

forotifese 3 A fbosiol AFaz FUAA Bl IR YRI®D Ieg A dl faffrreada situ¥el & AT ScUool Bloldrchl "Hsafel siow fagfer’ @ »u i &b 3

[Question ID = 2124][Question Description = S2_qSNz_PG_MCJ_Q29]
1. Jean Baudrillard/sfier df$ems [Option ID = 8493]

2. Gonzalo Frasca/ssielt b¥a1[Option ID = 8494]

3. William Gibson/fafermt Brsaior [Option ID = 8495]

4. Marshall Mcluhan/amgfet dissejgat [Option ID = 8496]

Correct Answer :-

e Jean Baudrillard/sher &$ems [Option ID = 8493]

30) Which among the following sites indexes millions of blogs and updates the references by tracking posts and links to
them?

forgotferRaa 3f ¥ b2t 15T U= cRdl cifer &l olauidImT dotré Sircdl 3 3iik Ulre vd fRics @1 udr e Jige! @Y sradol o= sirar 3 :

[Question ID = 2125][Question Description = S2_qSNz_PG_MCJ_Q30]
1. Trackbacks/S@da=t [Option ID = 8497]

2. Permalink/uzanfeiacs [Option ID = 8498]

3. RSS/smwaruar [Option ID = 8499]

4. Technorati/2asi3ct [Option ID = 8500]

Correct Answer :-

e Trackbacks/Z@mdazt [Option ID = 8497]

31) The sound created in a studio that replaces the original sound is called:
Il & 3T eafor @I Yferrenita 2ol arel JfSra dicpr eafer @I =T sl Sirar 8 ©

[Question ID = 2126][Question Description = S2_qSNz_PG_MCJ_Q31]
1. Zolleying/Siicfisst [Option ID = 8501]

2. Perambulator/u3sgeiez [Option ID = 8502]

3. Foley/wicr [Option ID = 8503]

4. Sound bridging/zm3s [{fSier [Option ID = 8504]

Correct Answer :-
e Zolleying/sicfigsr [Option ID = 8501]

32) According to David Brewer, the ethical issue which applies to Twitter is:

3 Jar @ AR Racz o e 3 o) AR @I fowRa 3 :

[Question ID = 2127][Question Description = S2_qSNz_PG_MCJ_Q32]
1. Independence/zadqgar [Option ID = 8505]

2. Integrity/cafersar [Option ID = 8506]

3. Conflict of Interest/f&di @1 ez [Option ID = 8507]

4. Freebies/qua susr [Option ID = 8508]

Correct Answer :-
e [ndependence/zadqgar [Option ID = 8505]

33) Who directed the ten-part television mini series ‘Samvidhaan': The Making of The Constitution of India?

51 s1ell 3 Yrga ccllfdstel ol 2M8st wAfeemet: © Afdpst sifte © @il 3iiw 3= @ forgorm A :

[Question ID = 2128][Question Description = S2_qSNz_PG_MCJ_Q33]
1. Suman Das/3piet grt [Option ID = 8509]

2. Dr. Chandraprakash Dwivedi/st. dgyeprer fgact [Option ID = 8510]

3. Shyam Benegal/9ami doteret [Option ID = 8511]

4. Gautam Gosh/sidas #@iw [Option ID = 8512]

Correct Answer :-
e Suman Das/Jgmt grt [Option ID = 8509]



34) Which among the following kind of lighting offers a quick and inexpensive way to convert a single light into a viable soft

light source?

forgatifepa 31 A fopaT YR &I yaprol aazen 3 Tabel YbI9l bl ATERA IO Yebr9l JYid 3 Aufrafela ool o1 ga siik RBracri afier 3 :

[Question ID = 2129][Question Description = S2_qSNz_PG_MCJ_Q34]
Broad lighting/4gfs emsféar [Option ID = 8513]

Flat lighting/ucle amsfést [Option ID = 8514]

Butterfly lighting/eezuens emsfést [Option ID = 8515]

Umbrella lighting/swqetr emstéar [Option ID = 8516]

A W N -

Correct Answer :-
e Broad lighting/dfs emsfést [Option ID = 8513]

35) Which one of the following is a precise measurement of the amount of light actually striking the film?

fioear ur 18X usorarct yarer @ uf¥AT oI Aé® AT 3 :

[Question ID = 2130][Question Description = S2_qSNz_PG_MCJ_Q35]
1. F- number/ww-3xzn [Option ID = 8517]

2. T- number/-3izzm [Option ID = 8518]

3. Sunny 16/3sft 16 [Option ID = 8519]

4. 1SO/3m$ v it [Option ID = 8520]

Correct Answer :-
® F- number/vw-3iz=n [Option ID = 8517]

36) Who among the following directors received the maximum number of National film awards for best direction?

forgatferRaa 31 3 b1 fibeat fordore @l AAdicayee fordora @ feru ARy siferd ar ARCA grdR A Asaford o sr :

[Question ID = 2131][Question Description = S2_qSNz_PG_MCJ_Q36]
1. Adoor Gopalakrishnan/sigg siurctaywiet [Option ID = 8521]

2. Ritwik Ghatak/ssfeas e [Option ID = 8522]

3. G. Aravindan/sft. srfdget [Option ID = 8523]

4. Gireesh Kasaravally/Brter @rracett [Option ID = 8524]

Correct Answer :-
e Adoor Gopalakrishnan/sigz siurerawier [Option ID = 8521]

37) When the values and contributions of a research study is assessed, it is termed as:

S 91lel UReh 31ERI6I D JTol 3i1R 3I9IGTel T HcAidol [l SIIeT 3 dl 331 sl ST 3 &

[Question ID = 2132][Question Description = S2_qSNz_PG_MCJ_Q37]
Post-evaluation/sc=ridsor-ugara [Option ID = 8525]

Axiology /aczmfistizm [Option ID = 8526]

Process evaluation/yayt dic=iicet [Option ID = 8527]

Procedure evaluation/yfdg sjcticvot [Option ID = 8528]

A W N -

Correct Answer :-
e Post-evaluation/sc=iicpor-uar [Option ID = 8525]

38) The researchers broadly agreeing on a phenomenon ‘through independent findings' is termed as:

olrermaisil d "Facq forsapd @ Fmera A" ufsacst & aR 3 Al diz UR AsHALT Folol DI T=AT S I SAIedl 3 @

[Question ID = 2133][Question Description = S2_qSNz_PG_MCJ_Q38]
1. Scientific positivism/dsufore yeagmars [Option ID = 8529]

2. Intercommunity/smeea: w@err [Option ID = 8530]

3. Intersubjective/sea: wifepforsaar [Option ID = 8531]

4. Paradigmatic/ufdemft [Option ID = 8532]

Correct Answer :-
e Scientific positivism/dsmfers yeagrars [Option ID = 8529]

39) A quantitative aggregation of several research findings on the same issue, is called

U 3 JE UR 301D 9NtEl UReh forsapt] @ ANGIcIres AFTARIST DY T s &Y Siredl 3
[Question ID = 2134][Question Description = S2_qSNz_PG_MCJ_Q39]



Cluster analysis/sces faecwur [Option ID = 8533]
Meta analysis/u2r fascswur [Option ID = 8534]

Panel analysis/wecra fecswur [Option ID = 8535]
Collective analysis/mfaes faecstor [Option ID = 8536]

A WN -

Correct Answer :-
e Cluster analysis/sJe faecsuor [Option ID = 8533]

40) A one-tail test predicts that the result will move in:

fopft v ured ufsgror I forsasdt gra gxar & fob ufyvmer fowarfalRaa féom 3 Fenfera aiem :

[Question ID = 2135][Question Description = S2_qSNz_PG_MCJ_Q40]
The positive direction only/d@act gercsd fgom 3 [Option ID = 8537]

Either positive or negative direction/=r dl @olicaid a1 suicad for 3 [Option ID = 8538]
The negative direction only/dact ssumcares o 3t [Option ID = 8539]

Several directions/smi® fonsii 3 [Option ID = 8540]

A W N -

Correct Answer :-
® The positive direction only/daet goiicara f&or 3 [Option ID = 8537]

41) Which of the following are the philosophical assumptions of communication?
A. Epistemology

B. Ontology

C. Metatheory

D. Semantics

E. Pragmatics

Choose the correct answer from the options given below:

forgotferfiaa 3 A wlar-211 Aar &t gofer o sraemomd 3 ?

A. sl

B. rasfieriem

C. sfeiBrgia

D. sreffarsiror

E. JidcyRierfasiior

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 2136][Question Description = S2_qSNz_PG_MCJ_Q41]

A, B and C only/d@act A, B, C [Option ID = 8541]
B, C and D only/aact B, C, D [Option ID = 8542]
C, D and E only/aaet C, D, E [Option ID = 8543]
A, Cand D only/@aet A, C, D [Option ID = 8544]

A w N =

Correct Answer :-
e A, Band Conly/dact A, B, C [Option ID = 8541]

42) According to Henry Jenkins which of the following are the types of convergence in the context of media
A. Computational convergence

B. Technological convergence

C. Content convergence

D. Economic convergence

E. Cultural convergence

Choose the correct answer from the options given below:

o138l Sielfep D SRR M3 @ ool I forgarferl¥aa 3 2 it A1 AR &I YR 3 ?
A . mFgeoreiel R

B. aaelichl sif3RRuT

C. el sifirRuT

D. snf¥fw sifdrersur



E. Aairofae sifirrur
il fou s1u fyeseul 3 2 & Fa= goi ¢
[Question ID = 2137][Question Description = S2_qSNz_PG_MCJ_Q42]

A, B and C only/@ac A, B, C [Option ID = 8545]
B, D and E only/dact B, D, E [Option ID = 8546]
C, D and A only/@aet C, D, A [Option ID = 8547]
A, C and E only/a@aa A, C, E [Option ID = 8548]

A W N -

Correct Answer :-
e A, Band Conly/@act A, B, C [Option ID = 8545]

43) Which of the following are considered as the defects of the western model of development?
It is:

A. Mechanistic

B. Transmission-oriented

C. Intended to invade

D. Extremely realistic

E. Extensively participatory

Choose the correct answer from the options given below:

forgatferRaa 3 3 Plat-21l R ulkphl yferca &t SRRIT seh siclt 3 ? @6

A. qgarél 3

B. yzrevilcaz 3

C. ¥ &Il A YA9r Dol DT IZ9A ¥l 3

D. 31 8 Ienefarct 3

E. cus 3u A Asuel 3

ofi fou a1 el 3 A A8t Sz gt ¢

[Question ID = 2138][Question Description = S2_qSNz_PG_MCJ_Q43]

. A, Band C only/daer A, B, C [Option ID = 8549]
. B, Cand D only/a@aet B, C, D [Option ID = 8550]
. C, DandE only/dae C, D, E [Option ID = 8551]
. A, D and E only/@ae A, D, E [Option ID = 8552]

A W N -

Correct Answer :-
e A, Band Conly/dact A, B, C [Option ID = 8549]

44) The modern societies are characterized by:
A. Limited aspirations

B. Social mobility

C. Cosmopolitanism

D. Innovativeness

E. Wholesale inequities

Choose the correct answer from the options given below:

smegfores Jarsil &Y fardraand arfl 3 :

A. fafdra sovigmd

B. wmnfSie sifereficrar

C. frgceif¥aar

D. srayadermifyar

E. el 3 srcarand

il f3u s1e fyaseul 9 A W& 3R goi ¢

[Question ID = 2139][Question Description = S2_qSNz_PG_MCJ_Q44]



A, B and C only/@aet A, B, C [Option ID = 8553]
B, C and D only/a@aet B, C, D [Option ID = 8554]
C, D and E only/asaet C, D, E [Option ID = 8555]
A, D and E only/a@aa D, E, A [Option ID = 8556]

A W N -

Correct Answer :-
e A Band Conly/a@ae A, B, C [Option ID = 8553]

45) JD Lesica sorted the media forms used in Citizen Journalism into six types. Which among the following are part of that?
A. Audience participation

B. Embedded media

C. Niche media

D. Thin media

E. Personal broadcasting sites

Choose the correct answer from the options given below:

3. 31 ARI®I o sIEIe ugeIidar 3 YIBI T Silol drcl 4l @l ® YRl 3 faufSia o forgeifei3aa 3 3 ol Se1d 3=A 8 ?
A. ol / ol &l seficrst

B. arur faifsnm

C. faforse oot faifsen

D. forférer farf3=m

E. §uaftpe gamur Ase

ofid fou o1 el 3 1 A8t STz gt ¢

[Question ID = 2140][Question Description = S2_qSNz_PG_MCJ_Q45]

A, C and D only/asaet A, C, D [Option ID = 8557]
B, C and D only/a@ae B, C, D [Option ID = 8558]
C, D and E only/aaet C, D, E [Option ID = 8559]
A, D and E only/@aet A, D, E [Option ID = 8560]

A wWw N -

Correct Answer :-
e A, CandD only/a@ae A, C, D [Option ID = 8557]

46) Roy Peter Clark of the Poynter Institute cautions against which of the following acts of unacceptable plagiarism?
A. Using news releases verbatim

B. Using the works of fellow reporters

C. Restating the source’s original idea

D. Using old stories all over again

E. Putting source's exact words in quotation marks

Choose the correct answer from the options given below:

dige FTerel @ 3 die: aars srdieor! afifeas arst o foafaRaa o 2 v wat o yfer amaener w2 3 ?
A. sarar fOSIfPRI @1 9regor: YRIeT dIoll

B. Jreft Rulél &bt Faomsil @1 gRieT ol

C. Jid @ Fel RIR DI Yol 2ol

D. garel AARIRI T Yol: GRIIBT D6l

E. 3a o oresl @1 gag 351 frosl 3 o

offa fou o1 frepeul 3 2 & 3a= goi ¢

[Question ID = 2141][Question Description = S2_qSNz_PG_MCJ_Q46]

1. C, D and E only/a@aa C, D, E [Option ID = 8561]
2. A, B and E only/dact A, B, E [Option ID = 8562]
3. B, C and D only/a@ae B, C, D [Option ID = 8563]
4. A, B and D only/daet A, B, D [Option ID = 8564]

Correct Answer :-
e C, D andE only/aac C, D, E [Option ID = 8561]



47) Which among the following questions are part of micro editing of a news story?
A. Will readers understand this?

B. Are the facts correct?

C. Are there unanswered questions or inconsistencies in the story?

D. Is the grammar sound?

E. Does this agree with what is known from previous stories on the subject?

Choose the correct answer from the options given below:

forgotferfRad 3 A Dlor-A Yool fp2fl AR farer & Jyga urca o B3xAa 3 ?
A. @1 e 33 AR ?

B. @ aea 38 3 ?

C. @ JArER 3 egalda yeor a1 fRrisiferit 3 ?

D. a1 cArB0T A S ?

E. oo 331 fawRr A weEfRia e Jemart A as Asafa xar 3 ?

il f3u s1e fyaseul 9 A W& 3= goi ¢

[Question ID = 2142][Question Description = S2_qSNz_PG_MCJ_Q47]

1. A, Cand E only/dac A, C, E [Option ID = 8565]
2. A, Band E only/dasact A, B, E [Option ID = 8566]
3. A, Cand D only/a@act A, C, D [Option ID = 8567]
4. B, C and D only/asaet B, C, D [Option ID = 8568]

Correct Answer :-
e A, CandE only/aact A, C, E [Option ID = 8565]

48) Which among the following are descriptive techniques used in writing a news story?
A. Usage of adjectives

B. Usage of creative tone or mood

C. Usage of analogies

D. Setting the scene

E. Usage of foreshadowing

Choose the correct answer from the options given below:

forgotferRaa 3 A fooa avfolicad ddoiia oI Yl AHmIR faazur ferzdor & dxar 3 ?
A. fa9rquli @1 gier

B. Facicais 9icht a Jrsilconm a1 Gt

C. IR &1 GRIPT

D. z9a dar= wel

E. gd siddar a1 griter

offa fou o1 fyapeul 3 21 &l 3a= goi ¢

[Question ID = 2143][Question Description = S2_qSNz_PG_MCJ_Q48]

A, B and D only/a@aa A, B, D [Option ID = 8569]
B, C and D only/adaet B, C, D [Option ID = 8570]
A, C and D only/@aet A, C, D [Option ID = 8571]
C, D and E only/aaet C, D, E [Option ID = 8572]

AN w N -

Correct Answer :-
e A, Band D only/dact A, B, D [Option ID = 8569]

49) A. C. Nielsen's research has revealed that consumer promotions are most effective:
A. When used on established brands with a declining market share

B. When used on established brands with no product change

C. When there is a major functional improvement

D. Where the brand is on the rise in terms of competitive share

E. When used only occasionally



Choose the correct answer from the options given below:

Q. 3. oficiaYer & oner & A1 aId Aol 31 3 fo5 IusiedI Haekor gl 3K 3

A. 319 o1T GRIIeT VA Fefid §is U= Al 3 RrIe! aik 9RR BR a1 3t

B. Sld SoloT gRileT ¥A Fenfid gist urR aldar 3 ot @I 3curg uf¥ado orél 2
C. Si&f oI a31 YbRIcAD JLR loll &

D. Sief gferieft 9rr &t et 3 §is Hu= 3o 6T &

E. Sta ddct wafi-wall Jotat YRileT 3l

o Re a1e Riescdl 3 A & a2 9ol ©

[Question ID = 2144][Question Description = S2_qSNz_PG_MCJ_Q49]

1. A, B and C only/a@ac A, B, C [Option ID = 8573]
2. C, D andE only/aac C, D, E [Option ID = 8574]
3. B, Cand D only/@aet B, C, D [Option ID = 8575]
4. A, Eand D only/a@5aa E, D, A [Option ID = 8576]

Correct Answer :-
e A, Band Conly/aact A, B, C [Option ID = 8573]

50) The main elements of 'Brand Idea’ are:

A. Uniquely ours

B. The relationship of the brand to the consumer
C. Can be different for different groups/target
D. Temporary, Short-term

E. Sustainable for the long term

Choose the correct answer from the options given below:

'gis Rar’ & #Ee dca 3

A. @ac sART

B. gis a1 Susilept A AAser

C. 3IcIRTI-3[c10T €16 APl D 18 IeT3I-31e13T Bl ADAl 3

D. srarfl, srcurafirs

E. Srafafer o fere siemofia

il fou s1u fyapeul 3 21 & 3a= goi ¢

[Question ID = 2145][Question Description = S2_qSNz_PG_MCJ_Q50]

1. B, C and D only/saet B, C, D [Option ID = 8577]
2. B, E and D only/daet B, E, D [Option ID = 8578]
3. A, Eand D only/asaa A, E, D [Option ID = 8579]
4. A, B and E only/adact A, B, E [Option ID = 8580]

Correct Answer :-
e B, Cand D only/aact B, C, D [Option ID = 8577]

51) In Public Relations, Communication Audit is an important exercise for effective communication because:

A. It examines the threat and success of other competitors

B. It investigates the scope of communication to determine whether all existing or potential publics are covered
C. It analyses the decisions of the organization

D. It evaluates their current attitude and behaviour; whether they are required to conform or change

E. It identifies communication gaps and information needs of all the key publics

Choose the correct answer from the options given below:

SIGRIFUD 3 YAHId] AR D 18 AR Icidvel Ascayul BRI 3 a=ilfe :
A. I8 g31? YIeRNPRIT &l 3m9ic 3R AWeIdr oI UivT ol 3
B. s AR @ &I DI cdYUI Bl & b a=ar el addrer A1 T fafdrse SoR1gg AD 3062 Il &



C. Iz Jidro0l @ forvfil @1 ferecsaur e 3

D. w15 Iord acdaret ifghi B2 RIAR BT Acidol B 3 o5 TR Iod Fforfra won wfdw a1 Jowd uf¥ador ciren aifde
E. @z it ssvayyt fafdrse Sormargl &t Aarcdierar iz Faen Aded smagaadnsii &t usarer o 3

ofi o s1u fwseal & A A8} IR BT wRI6T BT :

[Question ID = 2146][Question Description = S2_qSNz_PG_MCJ_Q51]

A, B and C only/aaet A, B aiiz C [Option ID = 8581]
A, C and D only/aaet A, C siiz D [Option ID = 8582]
B, A and D only/daet A, B siiz D [Option ID = 8583]
B, D and E only/aact B, D siiz E [Option ID = 8584]

A W N -

Correct Answer :-
e A, Band C only/dact A, B aiiz C [Option ID = 8581]

52) According to John Dalla Costa, the Relationship Marketing Model focuses on:
A. The process for serving customers

B. Feeding and nourishing the relationship

C. Extending respect and value to customers

D. Defining the target group

E. Developing an audience service, philosophy

Choose the correct answer from the options given below:

Sifel el Biver & AR el - snenfa fuvrer yfersu’ fivet uR eareradiea wzar 3 ?
A. 3zl &t Aar wot b gl

B. Jider oot iftya siiz IYas el

C. 3JIEDI DI AFATGI YgIol D6l 3i1= Hlel Soll

D. ciga 1eg @1 ufsnfa won

E. gofews / oficrsIvr Jar gofer famRa @

il f3u a1 fraseul 9 A W& IR DI I BRI ©

[Question ID = 2147][Question Description = S2_qSNz_PG_MCJ_Q52]

A, C and D only/daet A, C siiz D [Option ID = 8585]
A, B and C only/a@act A, B aiiz C [Option ID = 8586]
A, B and E only/dact B, A siiz E [Option ID = 8587]
C, D and E only/asaet C, D siiz E [Option ID = 8588]

A w N =

Correct Answer :-
e A, Cand D only/daet A, C siiz D [Option ID = 8585]

53) The defenses to an action against defamation are:
A. Judicial discretion

B. Reputation of the accused

C. Justification

D. Fair comment

E. Privilege

Choose the correct answer from the options given below:

3[adrel bl pRaré @ ¥ad 3 -

A. iR e

B. sif3rges &t yfersor

C. siiftrer

D. forcuegr feouuft

E. Roruféror

il feu s1u faresedl 3 A A8 IR D1 WRIel B :

[Question ID = 2148][Question Description = S2_qSNz_PG_MCJ_Q53]



A, B and C only/dact A, B afiz C [Option ID = 8589]
B, C and D only/aaet B, C 3iiz D [Option ID = 8590]
C, D and E only/@aa C, D siiz E [Option ID = 8591]
B, C and E only/aact B, C siiz E [Option ID = 8592]

A W N -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8589]

54) Which of the following ratings are prescribed by CBFC?
A. U

B. M

C. PG

D. UA

E.S

Choose the correct answer from the options given below:

forgatferRaa 3 3 wlordl 3es1 CBFC g forerifea &t s 3 :

A. U

B. M

C. PG

D. UA

E.S

ofid o s1u fwseal # A A8 IR BT wRI6T BT :

[Question ID = 2149][Question Description = S2_qSNz_PG_MCJ_Q54]

A, B and C only/d@act A, B siiz C [Option ID = 8593]
B, C and D only/@act B, C siiz D [Option ID = 8594]
C, D and E only/aae C, D 3iiz E [Option ID = 8595]
A, D and E only/dact A, D 3liz E [Option ID = 8596]

A W N -

Correct Answer :-
e A, Band C only/dact A, B 3iiz C [Option ID = 8593]

55) According to Schein (1985), leaders have the ability to communicate organizational messages in the following
ways:

A. Endorsing corporate ideologies

B. Focussing on and measuring and controlling variables
C. Focusing on employee feedback

D. Coaching and teaching

E. Promoting, recruiting and excommunicating

Choose the correct answer from the options given below:

orsol (1985) @ sl orarsil 3 ool @ AHeoll B WFYRIA B2or &I g forForferRaad il 2 3Kl 3 :
A. oiul¥e frareniaii o1 A3elel ool

B. =Rl uz ear61 Sott 3R 3os UGl 4 forifea aaet

C. watanf¥=i A gra gfergfie uz earer Biga woen

D. yfdrgror a fdrgn ygret et

E. udlsoifer @atr, sicil a2or 3iir afdsaza awor

ofid fou s1u feseal & A A8 IR BT <RIl HIRIT :

[Question ID = 2150][Question Description = S2_qSNz_PG_MCJ_Q55]

A, D and E only/d@aet A, D iz E [Option ID = 8597]
A, C and E only/a@act A, C 3liz E [Option ID = 8598]
B, D and E only/dact B, D siiz E [Option ID = 8599]
B, C and E only/asaet B, C siiz E [Option ID = 8600]

A w N -

Correct Answer :-
e A, DandE only/@ac A, D iz E [Option ID = 8597]



56) Buzzell and Cook (1969) discussed the following as part of five stages of a product's life cycle. Identify the correct
one(s)

A. Nascent stage is when sales are low

B. Infancy is when a product enters the market

C. Decline is the final stage when consumers lose interest

D. Maturity occurs when a product finds its placement in its segment
E. Competitive stage is when sales are high

Choose the correct answer from the options given below:

oIeT 3R o (1969) o fpil Icurs @ Siiaer @ay 6t uia srazensii & wu 3 frcfiRaa & oaf &1 A8t fawcua b usarer o3 :
A. orasia srazen, S faay oa diar

B. 9t a5 A el 8 S ICUIG ISR 3 A9l Bl &

C. sqaifer g siferr sraven & S/ SUspIsil &b Bfr e 3t St 3

D. uftugadr gs 2l 3 s/ Icurc @l 396l s 3 Fearel [ictar 3

E. yferieh srazen, s faa siffras dar 3

il fou o1 fraseul 3 3 A IR BT TI6Tl HIfSIE ©

[Question ID = 2151][Question Description = S2_qSNz_PG_MCJ_Q56]

1. A, D and E only/@aet A, D siiz E [Option ID = 8601]
2. A, B and C only/daer A, B iz C [Option ID = 8602]
3. B, Cand E only/daet B, C iz E [Option ID = 8603]
4. B, C and D only/dsaet B, C sfiz D [Option ID = 8604]

Correct Answer :-
e A, DandE only/@ae A, D iz E [Option ID = 8601]

57) According to Boyd and Ellison, which among the following are popular areas of research on Social Networking Sites (SNS)
A. Impression management

B. Post-humanism

C. Anti reality

D. Privacy

E. Network and Network structure

Choose the correct answer from the options given below:

dfs siie uferiol @ srofAR forgotferl¥aa 3 37 wlot - A Allet olcaldbst AT (YA Tol TA) UR oMle D cllpfoRT 8 3 ?
A. gamma ydere

B. 3= atoraarg

C. gfer zremef

D. forsrar

E. olcad g olcad e

ofid fou o1 el 3 A 8 IR <RI BT :

[Question ID = 2152][Question Description = S2_qSNz_PG_MCJ_Q57]

C, D and E only/adae C, D iz E [Option ID = 8605]
A, D and E only/dact A, D 3liz E [Option ID = 8606]
B, A and C only/daer B, A sfiiz C [Option ID = 8607]
B, C and D only/@act B, C siiz D [Option ID = 8608]

A wWwN -

Correct Answer :-
e C, D andE only/asaa C, D siiz E [Option ID = 8605]

58) Which of the following are true in the case of media management?

A. In the 'Sandwich style’, the small-scale idea appears suitable, at the outset

B. Introduction of technology in a media house can have many types of impact
C. Agenda-setting is part of the technology adoption process in a media house

D. Experienced media managers do not require skill upgradation



E.Technology adoption by a media house is non-competitive

Choose the correct answer from the options given below:

A= ydersr & amwra 3 fogarferlRaa 3 3 dla A A ?

A. 'Isfem e’ 3 gy J SI 3IPR &I AR ST oPr 3

B. fepil Bif3n a@rral 3 eaeilciislt @ ydor @ @f yoR @ yiid 8l Add 3

C. @RIy - forerfzor fp2fl fif3an a=ror 3 Tasileifshl sruatrar & yfpan o 3= &
D. sropret Bif3 yers! Bt wlolel JooRIol Bl IMa9ADI oTél BXeil 3

E. i3 errol gRI deilcisll I 3U6IRIT Sifell 313 gferisfl diar 3

ofid o s1u fwseal & A A8 IR BT <RIl HIfvIT :

[Question ID = 2153][Question Description = S2_qSNz_PG_MCJ_Q58]

A, B and C only/@act A, B siiz C [Option ID = 8609]
B, C and D only/d@aet B, C siiz D [Option ID = 8610]
C, D and E only/a3ae C, D siiz E [Option ID = 8611]
A, D and E only/a@aet A, D siiz E [Option ID = 8612]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 8609]

59) Augmented Reality can be defined as a system that fulfills which of the following basic features?
A. Combination of real and virtual world

B. Real-time interaction

C. Accurate 3D registration of virtual and real objects

D. Replacement of user's real-world environment with a simulated one

E. User's perception of reality is completely based on virtual information

Choose the correct answer from the options given below:

sfdraffa arafiear o1 WA dq & wu F ufesnftia o2 s T Sl fewafeRaa e fadaand gt wzar 3 :
A. arafae 3R MRl S| @ HRilstol

B. 3rret - ersd sia:fepn

C. @rcufore 3k ardafd® a3l o1 A& - A8t 3D usfiaur

D. grirep1 @ arafde - S af¥dor oI sfeimd af¥dor A gferremuct

E. QRITDI T aR<fdadr o dier 3msmeil ol R gl are A smenfya 3

ofid 3w a1 fwseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 2154][Question Description = S2_qSNz_PG_MCJ_Q59]

A, D and E only/d@aet A, D iz E [Option ID = 8613]
B, D and E only/daet B, D siiz E [Option ID = 8614]
B, C and D only/a@act B, C siiz D [Option ID = 8615]
A, B and C only/asaet A, B aiiz C [Option ID = 8616]

A w N =

Correct Answer :-
e A, Dand E only/dact A, D siiz E [Option ID = 8613]

60) Which among the following statements hold true in cinematography?

A. Depth of field is comparatively deep when wide-angle lens is used

B. Angles make a subject powerless

C. Extreme close-up shots are used to capture emotions

D. Object size corresponds closely to human vision when normal lens is used
E. Prime lens are used when the highest optical quality is not required

Choose the correct answer from the options given below:

forgarfeiRaa 3 A1 Pl - A Peaa RBoldicob! 3 e & ?
A. 8 & s1EE MISIayd 316st BXcdl & S arss - YaTet ciA @I YRileT fopan sirar 3



B. Ssrc= forrr o1 o1ftpélar @2 Sa 3

C. siraonail A AAFEea R diet @ foru sifer aellst - ara olicat @t gRieT fpen sirar 3

D. Sia ATAIGA ¢ BT GRIPI 3T 3, Al a3 I 3D Aleld zfte o iu Brer 3

E. S Scaas yorefi spradr &l smaeasar oiél aicl 3, dal yrsa <l o1 YRIeT e sirar 3
ofid o s1u faseal & A A8} IR BT wRI6l BT :

[Question ID = 2155][Question Description = S2_qSNz_PG_MCJ_Q60]

A, C and D only/daet A, C siiz D [Option ID = 8617]
A, B and C only/@aet A, B iz C [Option ID = 8618]
C, D and E only/aaer C, D siiz E [Option ID = 8619]
B, C and D only/a@5aet B, C siiz D [Option ID = 8620]

A W N -

Correct Answer :-
e A, Cand D only/adaet A, C siiz D [Option ID = 8617]

61) Which among the following are the major characteristics of Italian-neorealism?
A. Usage of non-professional actors

B. Usage of Schiifftan process

C. Documentary style of film making

D. Shooting at outdoor location

E. Discoutinuity editing

Choose the correct answer from the options given below:

forgotferfaa 3 wlet - 2t sererdt o1a Arenefars & e frdraans 3 ?

A. 3R - s ifdrerarsii &1 geT

B. offtrcrrer

C. fiscat omor 6 gaferg et

D. arar Ferret uz 9ifésr

E. Rrofesasd Hurcer

ofid 3w a1 fweal & A A8 IR BT wRI6T BT :

[Question ID = 2156][Question Description = S2_qSNz_PG_MCJ_Q61]

A, D and E only/@aet A, D siiz E [Option ID = 8621]
A, C and D only/daet A, C siiz D [Option ID = 8622]
B, C and D only/a@act B, C sfiz D [Option ID = 8623]
C, D and E only/a5aet C, D sir E [Option ID = 8624]

A w N =

Correct Answer :-
e A, DandE only/a@ac A, D iz E [Option ID = 8621]

62) Which among the following techniques can be used to indicate elapse of a short time?
A. Slow fade out

B. Changes in personal appearances

C. A calendar changes pages or date changes

D. De focus shot

E. Highlighting changes with passing time

Choose the correct answer from the options given below:

forgotferRaa 3f 3 Pl - 2l Adolls BT YT Bt IIRT didel DI JRAd B & fere fpan s Awar 3 ?
A. &fign &3 - 33T

B. Juaftpw wul 3 uf¥ador

C. ®cis? @ yoo agerd & ar fafr acerdl 3

D. % - wiw oiic

E. e diqo @ e af¥ade @l 3SIPR Bl

i) feu s1u famedl 3 A A8 IR D1 WRIe BRI :

[Question ID = 2157][Question Description = S2_qSNz_PG_MCJ_Q62]



A, B and C only/d@act A, B siiz C [Option ID = 8625]
B, C and D only/d@act B, C siiz D [Option ID = 8626]
A, D and E only/d@aet A, D iz E [Option ID = 8627]
C, D and E only/@aa C, D siiz E [Option ID = 8628]

A wWwN -

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 8625]

63) The disadvantages of the case study method are:
A. It is highly quantitative

B. Scientific rigour is absent

C. There is greater scope for generalisation

D. Generalisation is difficult

E. It is time-consuming

Choose the correct answer from the options given below:

DA 3rerIel faftr & siforit 3 :

A. w18 sifer uf¥amoncas drar 3

B. Jsufores wolzar o 3i3d e 3

C. aAmciiw3ur & sifera sisirRer dXdt 3

D. Amcfiasur ofdet 3

E. 32131 98 IWRI oI 3

il feu aru faeedl 3 A A8 IR @1 WRIet B :

[Question ID = 2158][Question Description = S2_qSNz_PG_MCJ_Q63]

1. A, B and C only/dact A, B siiz C [Option ID = 8629]
2. B, C and D only/dsaa B, C sfiz D [Option ID = 8630]
3. C, D and E only/a@aet C, D siiz E [Option ID = 8631]
4. B, D and E only/a@aet B, D siiz E [Option ID = 8632]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 8629]

64) Which of the following are the advantages of simple random sampling?
A. Possibility of a representative sample in all cases is remote

B. Classification error can be eliminated

C. A representative group can be collected easily

D. Statistical inference of external validity is possible

E. Periodicity bias is possible

Choose the correct answer from the options given below:

forgotferRaa 31 3 Plet - A Icr a forgolor @ cmsr 3 ?

A. 19it el 31 gferforfér gfercol bl isiraen aga oA 3

B. aoffwmzur gfe @I afdvampd foar st Awar 3

C. yfarferfer 13g b1 HYEuI MRATGH A 3l ADAI &

D. srerderar @1 AR forsmd Fva &

E. smafefar yafegs zisra 3

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 2159][Question Description = S2_qSNz_PG_MCJ_Q64]

1. A, B and C only/dacr A, B siiz C [Option ID = 8633]
2. B, C and D only/dact B, C aliz D [Option ID = 8634]
3. C, DandE only/a@ae C, D siiz E [Option ID = 8635]
4. A, D and E only/daet A, D 3iiz E [Option ID = 8636]

Correct Answer :-
® A, Band C only/aact A, B siiz C [Option ID = 8633]



65) Which of the following are methods of data collection in qualitative research?
A. Survey

B. Experiment

C. Focus group discussion

D. Case studies

E. Field observation

Choose the correct answer from the options given below:

forgotferfiaa 3 A it - 2t spIcaAD 9Nter 3 STer FsEur & fafer 3 ?

A. adgror

B. gier

C. wioa A3g =i

D. @ s1eRIo

E. & - faw=es ggror

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 2160][Question Description = S2_qSNz_PG_MCJ_Q65]

A, B and C only/d@aa A, B siiz C [Option ID = 8637]
B, C and D only/a@aet B, C siiz D [Option ID = 8638]
C, D and E only/@aa C, D siiz E [Option ID = 8639]
A, D and E only/d@act A, D siiz E [Option ID = 8640]

A WN -

Correct Answer :-
® A, Band C only/aac A, B siiz C [Option ID = 8637]

66) Match List | with List Il

List | List Il

Theory Objective(s)

A. Authoritarian I. Audience'’s role is critical

B. Libertarian Il. Instrument of state policy

C. Communist 1ll. Checks on government

D. Democratic-participant IV. State-owned media for political propaganda|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

e - e -1

(Rigia) (329%)

A. SifereTRIGars I. smeE® &t BT Asragut 3

B. Scrlaur 1. =1 ofifer @1 ATeret

C. JR@Ect lll. 3R R foriqur

D. eliwdifes - IV. Ismelifers 3d - gar @ forg Irsa & Faifica aren
RreHh farfSem

il fou s1e fypeul 3 3 A8 IR o ©
[Question ID = 2161][Question Description = S2_qSNz_PG_MCJ_Q66]

A-IV, B - 1Il, C -1, D - Il [Option ID = 8641]
A-ll,B-Ill, C-IV, D -l [Option ID = 8642]
A-lIl,B-IV, C-ll, D -l [Option ID = 8643]
A-l,B-lll, C-Il, D -IV[Option ID = 8644]

A W N -

Correct Answer :-
e A-IV,B-1ll,C-I,D- Il [Option ID = 8641]

67) Match List | with List Il

List | List 11

Development Concept Source

A. Media dependency I. IOWA school

B. Urbanisation Il. APJ Abdul Kalam

C. Development support communication|lll. Daniel Lerner

D. PURA IV. Latin American scholars|

Choose the correct answer from the options given below:



et -l oot 3 -1l A Fgafera Hifsre :

Rret -1 Rreh -1l

(farprR1 6t sraemum) (1)

A. 3MifSan uz foriqur |, sméaiiar Fayetr

B. orsita=ur Il. gdlSt sreger wend

C. fRrprR1 AsIeI AR Ill. 3forret crofz

D. i g 3R © IV. cifeat Aty oner sreren

il 3w o1 fcul 3 A At I gfom :
[Question ID = 2162][Question Description = S2_qSNz_PG_MCJ_Q67]

A-IV,B-lIl, C-I, D -Il [Option ID = 8645]
A-lIl,B-IV, C-Il, D -l [Option ID = 8646]
A-l,B-Il, C-IV, D -Ill [Option ID = 8647]
A-ll,B-l,C-lll, D -IV[Option ID = 8648]

AW N =

Correct Answer :-
e A-IV,B-lll,C-I,D-Il [Option ID = 8645]

68) Match List | with List Il

List | List Il

A. Mug shot I. A short story used at the end of a long story

B. Crony journalism [Il. Ignoring negative news about friends

C. Rowback Ill. Head shot

D. Shirttail IV. A story that corrects a previous story without informing the error

Choose the correct answer from the options given below:

et -1 B 3l -1l A R Hife

et - | et -1l

A. 3ot offic ||, Tl ciell e o sid 9 oy wen

B. alolt Il. Bl A Al oIDPRICHD AARIR U EATel o181 Soll

apTidar

C. > lll. 3soifc

D. ot IV. %=t e el git = caferapar ot 3coa fipe e gd -
oot 3 9 &bl siredl 3

oifa feu aru faaedl 3 A A8 3R gforu :
[Question ID = 2163][Question Description = S2_qSNz_PG_MCJ_Q68]

A-lIl, B-Il, C-IV, D -l [Option ID = 8649]
A-ll,B-Ill, C-l,D-IV[Option ID = 8650]
A-l,B-IV, C-Il, D -Ill [Option ID = 8651]
A-IV,B-l,C-lll, D -l [Option ID = 8652]

A w N =

Correct Answer :-
e A-lll,B-Il,C-IV,D-I[Option ID = 8649]

69) Match List | with List Il

List | List Il

Research method Description

A. Tachistoscope testing  [I. Demographics

B. VALS research Il. Testing random viewer response
C. Theatre testing Ill. Advertising readership

D. Starch scores IV. Recall of advertisement

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oz -| et -1l

(omeragfen) ()

A, Rpdroiu udisor |, Stotifepebt

B. < © wer waa oner 1. arefRa® cofe ycgar usleior
C. Rroce udlgmor 111, uremi &t iz o1 fasmuet
D. ¥ered et IV. ferstasil @1 Fau1

il fou s1e frseul 3 ¥ A8 IR gforw ©
[Question ID = 2164][Question Description = S2_qSNz_PG_MCJ_Q69]



A-l,B-ll,C-IV, D -lll [Option ID = 8653]
A-ll,B-lll, C-IV, D -l [Option ID = 8654]
A-IV,B-l,C-Il,D-lll [Option ID = 8655]
A-lll,B-1IV,C-lI,D-Il [Option ID = 8656]

A WN -

Correct Answer :-
e A-l,B-Il,C-IV,D-Ill [Option ID = 8653]

70) Match List | with List Il

List | List Il

Authors Book

A. Cutlip, Center and Broom |l. Public Relations: Theory and Practice|
B. Grunng and Hunt Il. Managing Public Relations

C. J M Kaul lll. Effective Public Relations

D. Jane Johnston IV. Public Relations in India

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSe :

oret -1 Rreh -1l

(erzeon) (gza)

A. orefera ez 3z gar |. aféero f¥cioR @ eAidl Us gfdea
B. 3oer 3ii d¢ 1. JafSier uféeres f¥croir

C. 31 3. oiet Ill. sBfereq ufécra feeroixt

D. Stet Sif¥cor IV. uféeres f¥ar9ia sor S

il 3w o1 fymcul 3 A At IR gfom :

[Question ID = 2165][Question Description = S2_qSNz_PG_MCJ_Q70]
. A-lll,B-IV, C-Il,D-I[Option ID = 8657]

. A-ll,B-IV, C-Ill, D -I[Option ID = 8658]

1
2
3. A-ll,B-Il, C-IV, D -l [Option ID = 8659]
4. A-lIl,B-l,C-IV, D -Il [Option ID = 8660]

Correct Answer :-
e A-lll,B-IV,C-Il,D-I[Option ID = 8657]

71) Match List | with List Il

List | List Il

A. Copyright Act I. Mandamus

B. Official secrets Act |ll. Assignment

C. Indian Constitution |[lll. Trial by media

D. Contempt of Court [IV. Wrongful communication
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rxeht -1 il

A. gferferenfiror |. araTGer

B. omerchl o are siferformer Il. 101G 91T

C. smrcllar ifaermet 111, 3fif3em grr fammzor
D. oRIRIICRI bt SaareIar V. srcta JAar

oiil f¢u are famedl 3 A A8 IR gforu :
[Question ID = 2166][Question Description = S2_qSNz_PG_MCJ_Q71]

A-ll,B-IV, C-l, D -Ill [Option ID = 8661]
A-ll,B-l,C-IV, D -lll [Option ID = 8662]
A-IV,B-lIl, C-I,D-Il [Option ID = 8663]
A-IV,B-l, C-Il, D -Ill [Option ID = 8664]

A WN -

Correct Answer :-
® A-ll,B-IV,C-l,D-Ill [Option ID = 8661]

72) Match List | with List Il

List | List Il

IMedia House Acquired by

A. NBC |. Disney

B. ABC Il. Viacom

C. CBS Ill. Time Warner Corp




|D. CNN |IV. General Electric
Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

ot -1 ot -l

(frf3=m #1zr0m) (Rread grr sifSta fasa srm)
A. wot &t 2ft 1. f3oit

B. u &t =ft 1. armowia

C. 2t &t v Il. erzar aelz eiuRReret

D. i wot wat IV. Slora safdcme

il fou o1 frseul 3 3 A IR gforw ©
[Question ID = 2167][Question Description = S2_qSNz_PG_MCJ_Q72]

A-lIl,B-Il, C-l,D-IV[Option ID = 8665]
A-IV, B -, C-Il, D-Ill [Option ID = 8666]
A-IV, B-Il, C-l, D -Ill [Option ID = 8667]
A-lll,B-IV, C-I, D -l [Option ID = 8668]

A W N -

Correct Answer :-

e A-lll,B-ll,C-l,D-IV[Option ID = 8665]
73) Match List | with List I
List | List Il
Concept Comed by
A. Web 2.0 I. Alvin Toffler
B. Hyperreality [Il. William Gibson
C. Prosumer lll. Jean Baudrillard
D. Cyberspace [IV. Tim O' Really
Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma Hifde

oxeht - | el -1l
(3raemRvin) (gferarca)

A. as 2.0 |. ofeder Siucrz
B. srzu= fruferdt Il. faferma Bresret
C. ARPR 11l. Shior dif3ers
D. Iz I0A V. fear st ferctt

oflax 3w o1 el 3 A At I gfom :

[Question ID = 2168][Question Description = S2_qSNz_PG_MCJ_Q73]
. A-l,B-IV,C-Il, D-lll [Option ID = 8669]

. A-ll,B-IV, C-Ill, D -I[Option ID = 8670]

1
2
3. A-IV,B-l,C-lll, D -ll [Option ID = 8671]
4. A-IV,B-lll, C-lI, D -Il [Option ID = 8672]

Correct Answer :-
® A-l,B-IV,C-Il,D-Ill [Option ID = 8669]

74) Match List | with List Il

List | List Il

National Award for Best Actor  [Film

A. Naseerudin Shah I. Piravi

B. Premji Il. Anumati

C. Vikram Gokhale Ill. Nagar Kirtan
D. Riddhi Sen IV. Paar

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

el - et -1l
(2rcdgleo sifdolar & ferw wsghr greoR) (Rscan)

A. sRiisgier oms I. e

B. Jgrsit 1. srogafer

C. et siiaa lll. serRdbIder
D. spfy Aot IV. ur

il fou o1 fyseul 9 A At IR gfom ©



[Question ID = 2169][Question Description = S2_qSNz_PG_MCJ_Q74]

A-IV,B-l,C-Il, D-Ill [Option ID = 8673]
A-IV,B-Il, C-I,D-Ill [Option ID = 8674]
A-l,B-lll, C-IV, D -l [Option ID = 8675]
A-ll,B-IV, C-I, D -Ill [Option ID = 8676]

A WN -

Correct Answer :-
® A-IV,B-l,C-Il,D-Ill [Option ID = 8673]

75) Match List | with List Il

List | List Il

A. Positivist Research I. Thick description Writing

B. Bricolage Research Il. Memo Writing

C. Observation Research Ill. Value free

D. Grounded Method Research |IV. Combining skills, knowledge and methods

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgafera Hifste ¢

2yl - it -1l
A. Gragrardt oher (AR ford) |7 Do o oot (R SRaeorot

Rrsfesr)
B. fgeoicist oner (fapicist f¥rek) Il. gferases o (e wrsfesr)
C. gerur - 9ner (ifesrdorst f¥2rt) Ill. gca forrter (Jcy - W)
g;q;r;snﬁﬁiﬁfﬁsﬁa(wésﬁas V. ctorer <ier i1z et <o v

oii<I fSu are famedl 3 A A8 3R ot :
[Question ID = 2170][Question Description = S2_qSNz_PG_MCJ_Q75]

A-ll,B-l, C-IV, D -lll [Option ID = 8677]
A-l,B-Il,C-lll, D -IV[Option ID = 8678]
A-IV,B-lIl, C-Il, D -l [Option ID = 8679]
A-lll,B-IV, C-I, D -Il [Option ID = 8680]

A WN -

Correct Answer :-
® A-ll,B-l,C-IV,D-Ill [Option ID = 8677]

76) Arrange the presidents of INS (Indian Newspapers Society) chronologically, from the earliest to the most recent
A. Kiran B. Vadodaria

B. Somesh Sharma

C. P. V. Chandran

D. Ravindra Kumar

E. Shailesh Gupta

Choose the correct answer from the options given below

rEvored (336 ISMIuRt ARMEA) o reAsll B BRI WU A AR Usdl A 3E dd D P 3 Raled &3,
A. fp3ur &t adisen

B. A1drer ot

C. . dt. gogar

D. wditog; g

E. dlctor apar

ofid o s1u fesedl & A A8 IR BT wRI6l BT :

[Question ID = 2171][Question Description = S2_qSNz_PG_MCJ_Q76]

A, D, C, E, B [Option ID = 8681]
B, C, D, A, E [Option ID = 8682]
C, D, E, B, A [Option ID = 8683]
D, A, C, B, E [Option ID = 8684]

A W N -

)

Correct Answer :-
e A D,C,E, B [Option ID = 8681]

77) Arrange in sequence the steps in production of an instructional television program



A. Finalise the treatment
B. Select a subject

C. Involve experts

D. Plan evaluation

E. Identify the goal

Choose the correct answer from the options given below

et echiferstar ericgd forifur o1 218l i = 3 ?

A. §cdic @1 siferat u Somr

B. fererr @1 @16t Bell

C. frorusit o orf Hiuen

D. Fcaicel bl ANstell Toiloll

E. cigil bl usaret oo

il fou s1u freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 2172][Question Description = S2_qSNz_PG_MCJ_Q77]

B, D, E, C [Option ID = 8685]
E, B, C, E [Option ID = 8686]
, A, C, E, D [Option ID = 8687]
D, E, A, B [Option ID = 8688]

)

A W N -

» &y

Correct Answer :-
e A B, D, E, C[Option ID = 8685]

78) Arrange the following components of the Freytag Pyramid in chronological order.
A. Rise of action

B. Fall of action

C. Exposition

D. Climax

E. Resolution

Choose the correct answer from the options given below

B 2IIMRIRE & forsrfeiRaa Haced! Bl BIopHeRIR cIaf¥ed i :

A. arE fpam

B. sraalz fapen

C. Sgruur fegzm

D. a=diicnd

E. emerot

ofid o s1u faseal & A A8 IR BT <RI BT :

[Question ID = 2173][Question Description = S2_qSNz_PG_MCJ_Q78]

B, E, D [Option ID = 8689]
, C, E, D [Option ID = 8690]
D, E, B [Option ID = 8691]
D, B, E [Option ID = 8692]

Hwbh =
00>
>>w

Correct Answer :-
e A C, B, E, D[Option ID = 8689]

79) Arrange the stages of persuasion in the correct sequence
A. Appeal to the heart

B. Offer gratification

C. Appeal to emotion

D. Accomplish Sale

E. Point out the clients need



Choose the correct answer from the options given below

3IoloRIol @ FD¢l DI A8 B A caaf¥erd Hifsmg :

A. scarE

B. gferdiy &bt deraer

C. o1

D. faap @RI Fucel wIelr

E. sgd &I 3108 oI Iccld dIell

il feu s1u el 3 A A8 IR D1 WRIel B :

[Question ID = 2174][Question Description = S2_qSNz_PG_MCJ_Q79]

1 E, B, D [Option ID = 8693]
2. C, E, B, A, D [Option ID = 8694]
3. A, B, D, E, C[Option ID = 8695]
4. E, D, A, C, B [Option ID = 8696]

Correct Answer :-
e C, A E, B, D[Option ID = 8693]

80) Arrange in sequence the important developments in Public Relations
A. Institute of Public Relations (IPR)

B. Public Relations Society of America (PRSA)

C. International Public Relations Association (IPRA)

D. Code of Athens

E. Dattaram & Co.

Choose the correct answer from the options given below

STolIeu @ 8iq i ¢ arfafaferil o1 w8l ol 3 :

A. Soriud e (3 di 3R)

B. ufdcres R¥cigrer ARIRIE sifw 3@ifeT (H 3R vt wa)

C. siazredRr Sof Auds A (3 ot 3= ©)

D. weiy zifgar (s 3ifw weda)

E. crarm vs wucit

ofiI feu a1 fameul i A A8l Iz BI TRIel HIfSIU -

[Question ID = 2175][Question Description = S2_qSNz_PG_MCJ_Q80]
B, A, C, D [Option ID = 8697]

A, B, D, C [Option ID = 8698]
B,C,D
A E, D

, E [Option ID = 8699]
, C [Option ID = 8700]

AW N =
o> mm

Correct Answer :-
e E B, A C, D[Option ID = 8697]

81) Identify the chronological order of the cases related to press freedom in India.
A. Ramesh Thappar vs. State of Madras

B. Express Newspapers vs. Union of India

C. Bennet Coleman vs. Union of India

D. Sakaal Newspapers vs. Union of India

E. Secretary, | & B Ministry vs. Bengal Cricket Association

Choose the correct answer from the options given below

81 3 Y1 <Dl Facdddr A AdRa arcl I DIcIgdAeRIR Rafed dHifse :
A. 3391 ATUR Tl IAGRT IASA

B. vaRIUR RIGIUUR] JolleT HIRd 3Ad



C. Solc DIciiel TollH HRA AH

D. el sYsu ol MRA A&

E. aift, Jaolr 3R YARI AIcRT dolidl dotel fipdde walf¥rgorst

ofi o s1u fwseal & A A8} IR BT wRI6T BT :

[Question ID = 2176][Question Description = S2_qSNz_PG_MCJ_Q81]

B, C, E, D [Option ID = 8701]
, C, D, E, A [Option ID = 8702]
E, D, A, B [Option ID = 8703]
B, D, C, E [Option ID = 8704]

A W N -

’

Correct Answer :-
e A, B, C, E, D [Option ID = 8701]

82) Arrange the following countries in descending order of online news consumption (Based on FICCI Report,2020)
A. United States of America

B. Brazil

C. Indonesia

D. India

E. China

Choose the correct answer from the options given below

fisadhl fruré, 2020 @ smeR Uz forotifcpa Sotl ol sifol - clisal JAAR D crfiRIl (JATPIsH) D MR U= R @ul 3 xaferd Hifsre :
A. g I Eifar

B. greile

C. sSIafdrn

D. sira

E. dior

il f3u a1 fraseul 3 A A& IR BT TRl HIRIE ©

[Question ID = 2177][Question Description = S2_qSNz_PG_MCJ_Q82]

B, C [Option ID = 8705]
C, E [Option ID = 8706]
, B, C [Option ID = 8707]
C, B [Option ID = 8708]

Hwbh =
> m>» m
OO0 w>

Correct Answer :-
e E, A D, B, C[Option ID = 8705]

83) Arrange the following social media platforms on the basis of highest to lowest popularity in India (FICCI Report, 2020)
A. Facebook

B. WhatsApp

C. FB Messenger

D. YouTube

E. Instagram

Choose the correct answer from the options given below

foratifoper Aorer AT wrewR! @Y R 3 ol ANPRRIAr & e R caaf¥ed Hifse (fsadt Raré, 2020)
A. Bage

B. o81cat Qu

C. Bag® IR

D. gz

E. $cena
ofld f2u s1u faacul d A A8l Az T aRIoT HIfSIE &
[Question ID = 2178][Question Description = S2_qSNz_PG_MCJ_Q83]

1. D, B, A, C, E [Option ID = 8711]



2. D, A, B, E, C [Option ID = 8712]
3. B, A, D, C, E [Option ID = 8709]
4. B, A, D, E, C [Option ID = 8710]

)

y Yy

Correct Answer :-
e B, A, D, C, E[Option ID = 8709]

84) Arrange the following National Film awardees in the best actress category in the order of highest to lowest number of
winning titles.

A. Rekha

B. Shabana Azmi
C. Sharada

D. Archana

Choose the correct answer from the options given below

JAd9Yss Sfiroicfl bl Uil 3 AR flbear YzepR A AHFafora Slolarctl fGIeRIT Pl JFaret A fayftia fpu STl & sneR U= RIS @ (JAaifers A
goiad) A saaf¥erd &Hifsme :

A. ¥

B. oraretr smeraft

C. omzar

D. srfer

il fou o1 freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 2179][Question Description = S2_qSNz_PG_MCJ_Q84]

B, C, D, A [Option ID = 8713]
B, A, C, D [Option ID = 8714]
A, B, D, C [Option ID = 8715]
A, C, B, D [Option ID = 8716]

A W N -

)

Correct Answer :-
e B, C, D, A [Option ID = 8713]

85) The correct sequence of research phases in mass communication (media) is:
A. Effects of the medium

B. How the medium can be used - uses and users of the medium

C. The medium itself

D. New media uses and issues

E. How the medium can be improved

Choose the correct answer from the options given below

SioRiaR (fifsm) 3 oner & vl o1 A8t GA = 3 :

A. JrezEn @1 gerra

B. ORI yor= 3 M 1 GRileT e ST JAbdr 3 - AR BT GRIIST 3R GRIRDT
C. AERA =

D. oy fifdm & gt ik 32

E. amear o1 uf¥sas2vl f6a YR fosan st Awmdar 3

ofi 3w o1 faseal # A A8 IR BT <RI HIRIT :

[Question ID = 2180][Question Description = S2_qSNz_PG_MCJ_Q85]

. A, C, D, B, E [Option ID = 8717]
B, D, E, C, A [Option ID = 8718]
C, B, A, E, D [Option ID = 8719]
D, E, A, B, C [Option ID = 8720]

» &y

1
2.
3.
4. D,

» Ay

Correct Answer :-
e A C,D, B, E[Option ID = 8717]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Media texts will be decoded differently from that of encoders.



Reason R: Meanings are drawn by the social situations of decoders.

In light of the above statements, choose the correct answer from the options given below

ofl 3t werel fRu s1e 3@ uap sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ ®RYT (Reason R) & wu 3 :
sfdreperet (A) : BifSn urga o1 fRiddar dAdsa forfansii @ foridde A o dlen

@RI (R) : fridast B apnfoe Reaftrl & snemr ur siffigrr gga 6 om 3

IWRITP PYall D 3Mrelld A, ofld Bu faaseal 3 A A8 Iar o1 aRIe1 Hifste :

[Question ID = 2181][Question Description = S2_qSNz_PG_MCJ_Q86]

. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) il 31t 2 3iiz (R), (A) &I 3d =mezn 3 [Option ID = 8721]

. Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) cleil 3@l 8 woq (R), (A) &t 38 *m=n oidt & [Option ID = 8722]
. Ais true but R is false/(A) 3@ @ uwssqg (R) 2t ot 8 [Option ID = 8723]

. Ais false but R is true/(A) 3@l ot & woq (R) 2@t & [Option ID = 8724]

A wWw N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sz (R) glail 2@t &3z (R), (A) &6t 3@ aen 8 [Option ID = 8721]

87) Given below are two statements
Statement I: Participation, co-creation and collaboration are the key concepts in community media
Statement II: Community media is always top drum and technocentric in its approach

In light of the above statements, choose the correct answer from the options given below

ofi &1 perer RRu sme 3 :

@l - | @ Ao dMifsar i selicrst, Jser 3ilk s - forafor yga sraemund 3
el - || : araeIRies S sdton sruel eftemivr 3 ofitfzer siiz awofidt 3

IWRfTp el @ el 3 fowoifeiRaa fawcul 3 A 16t saz o :

[Question ID = 2182][Question Description = S2_qSNz_PG_MCJ_Q87]

Both Statement | and Statement Il are true/@pemr | 3iiz |l Sx6il 311 & [Option ID = 8725]

Both Statement | and Statement Il are false/@ewr | 3iR || Gloil sRir & [Option ID = 8726]
Statement | is true but Statement Il is false/@eret | 311 3, cifdber werat || sRicr 3 [Option ID = 8727]
Statement | is false but Statement |l is true/mepol | sRIcI 8, ciftbel deret || A1 & [Option ID = 8728]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are true/aemer | aiiz | Gloll 21 & [Option ID = 8725]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: News is considered as a special genre of media by the governments all over the world.

Reason R: News has the ability to educate its consumers and enflame their passions as its role is complex in a democracy.

In light of the above statements, choose the correct answer from the options given below

il S perel f3u s1e 3@ uep sifdraperet (Assertion A) @ %u 3 iz ¢RI 3@ PRYT (Reason R) & wu 3 :

stfdrperet (A) : O3 fora # eRI gRI FAER B! HifSr 6 ve o fer aen srar 3

@RI (R) : IEImaR 3 I8 gErar 3 o5 as Susiienisil @I RIf3ra B3 sl Iordhl HIaciIsii B Ysaferd o2 a=ilfes diddd i sl yfdmr sfea 3
RIS Derell @ sirelld 3, ofid fou fRrveul i A A IR 1 dRIet HIfdre ¢

[Question ID = 2183][Question Description = S2_qSNz_PG_MCJ_Q88]

. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 31t 2 3iiz (R), (A) &I 3d =mezn 3 [Option ID = 8729]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) clail 3@l 8 woq (R), (A) 6t 38 *me=n oidt & [Option ID = 8730]
. Ais true but R is false/(A) & @ uw3sq (R) 3t ot @ [Option ID = 8731]

. Ais false but R is true/(A) 3@ orét & woq (R) 2@ & [Option ID = 8732]

A w N =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2@t &3z (R), (A) &6t 3@ men 8 [Option ID = 8729]

89) Given below are two statements

Statement I: According to Article 19 (1) a of Indian constitution all citizens shall have the right to freedom of speech and
expression

Statement II: Article 19 (2) of Indian constitution allows for reasonable restrictions be imposed on freedom of speech and



expression
In light of the above statements, choose the correct answer from the options given below

Note: An alternative question needs to be suggested

il 3 erel fdu sre 3 ¢

Dol - | : sRdRI Jifdenst @ sgede 19 (1) D IR Al cIPIRGI Bl dictol 3iR 3ii= sifiiciftp &l Fadqgar o sif2rer den
@erot - |l : sz Ffdenot & serede 19 (2) 3 Fdia iz sifdrcafts B Fadqar ur 3kia yfeder aoimor &t sopaf 3

IRITP Pl D el A, ofld Bu faaseal 3 A A8 Iar &1 aRIe1 Hifste :

[Question ID = 2184][Question Description = S2_qSNz_PG_MCJ_Q89]

Both Statement | and Statement Il are true/erer | 3 |1 Sloil 3t 8 [Option ID = 8733]

Both Statement | and Statement Il are false/@emr | 3z |1 Gloil 3Rt & [Option ID = 8734]
Statement | is true but Statement Il is false/erel | 31 3, fog @eret |l sRicr & [Option ID = 8735]
Statement | is false but Statement Il is true/wesol | sRI=I &, fbog et |l = & [Option ID = 8736]

A w N =

Correct Answer :-
e Both Statement | and Statement |l are true/@erer | iz 1l Gleil 311 & [Option ID = 8733]

90) Given below are two statements

Statement I: In the business of communication, the information processing professionals should always respond to the needs
and expectations of consumers.

Statement II: The information processing people should consider first the management's priorities more than the people that
they are supposed to reach.

In light of the above statements, choose the correct answer from the options given below

ofiI <1 Dot Ru sme 3 :

Dol - | : AR D RAGART A Yol YA RIRIRRIL DI &AM SUHITDISN bl smaeadmdrsii & sroae gfeifipn wmen aifde

@l - || : el Yaxur o el Pl Rrel ekl a® 3oId ugdol <l 3o &l sirdl 3 3o} sifere yetrol &t grerfiraparsii uz amer ot aifde
SWRID Dol D 3Tl 3, offdl Gu farpedl 3 1 A3l IR D1 RIel B :

[Question ID = 2185][Question Description = S2_qSNz_PG_MCJ_Q90]

Both Statement | and Statement Il are true/erm | 3z |l Sieit 2i=r & [Option ID = 8737]

Both Statement | and Statement Il are false/@erwr | 3iiz || Sleif spicer & [Option ID = 8738]
Statement | is true but Statement Il is false/@emerl | 311 @ , fboq @eret |l sricr & [Option ID = 8739]
Statement | is false but Statement Il is true/wmemwr | sRicr 8 , fbog @ere || A= & [Option ID = 8740]

A W N -

Correct Answer :-
e Both Statement | and Statement |l are true/@emr | 3iR 1l Gleil 3 & [Option ID = 8737]

Topic:- 63MassComJourn_B

1) Read the given passage carefully and answer the questions that follow

Historical research offers an investigator interesting ways of looking at how our ideas about various topics, events, and
personalities have evolved. Such research can be inexpensive to conduct, and many of the materials (at least those you will
need for this exercise) are relatively easy to work with. All you will need for the purposes of this exercise is a decent
library. If you have access to a computer and information on the Internet, that is even better.

Consider, for example, a subject similar to the one you will be undertaking: the image of professional athletes in the
popular press. By popular press, | mean newspapers, magazines, and popular books (we could add radio and television
commentaries also, collecting data from those sources is more difficult). By researching historical coverage of athletes in the
popular press, you can see for yourself how. Americans' ideas about athletes have evolved over the years, from (to simplify
matters somewhat) adulation to rather negative attitudes in many cases. You might be able to find articles about certain
events (such as when Mike Tyson bit the ear of Evander Holyfield) that you think have been of major importance in leading
to these changes. You could cite these events and make an argument about their significance. There is something exciting
about investigating a subject from a historical perspective and drawing conclusions. In the case of Americans' attitudes
toward professional athletes, you may conclude that our attitudes have changed - or, if you wish to be cautious, you may
say only that they seem to have changed.

Disadvantages of a Historical Approach

One problem with a historical approach is that you can never be certain how accurate or correct your sources are. When
you read articles by sports writers, are you getting factual information, opinion, or some combination of both? How do you
separate fact from opinion or interpretation? This is one of the most common problems that historical researchers



face. (Sometimes, one discovers that what one thought was a fact is in reality, a writer's interpretation or opinion.)

forgaifeiRaa srerior oI ug 3R Yool D IR S &

MPRIRIG SiofRienel A AGATUD DI AT Aol D AP d3iD Bieral & v fafdear fareril, aconsil siik cufepdl & arR 3 saR farR! 3 fpa yor
uf¥adol 3R & VAT 3GIRi¢ITel B0l 3 LD R oIdl Il 3R Tgd-Hl ANBRI (B A DA 331 PRI A Frar AEBRI &I sragamarn axdl 3 ) A
PRI B0l UL AT BT & 33 DRI @ 1 U] dact U IURTh YIadIcRI Gl a9l el Afe s URT BRIg? 3R $colc U2
Jerol Bl IUcTeLIdr ad ugd A dl 32 off JeaR 3 3c1820T @ ot 3mu Sl farerT golol 3R Bier-Serd farerr @ a of: cliopitRr 91 3 saranRe
Yercficl &t sfa "clieftRr 91" A A0 arcwRl 3 JrEaRU, uf@ord i dis-yaferd gaad (33 sordl 33T siiz eclifdster & wafel o off
AfAfa o2 ADd &, U= sot Yl A AP A Dol 3iferd ofdol ) clipi Y 3 Verchicl @ VereIRid dast oI eRicenel dol UR 3T
TRl 33 ADba 3 b 1 adl 3 wercfidl @ forerRn 3 serdifeneil & forar 3 a1 yor uf¥ada s 3 - srcafere yoiar (ST IRcliaur B 3u) A
cIp? @ AwAcll A DIbI 86 AD SIPRICAD ftcdIvil ad A uf¥dacdor ool 3 Ascayvl yfdrmr fomrol darell © acolrsil (S Sl ABD ISl of $AS?
Blciitbics @1 ®lel I forIr o) uz Ul ord firer Ipd 33U sof Trconsil &t araf o2 soId> AT DI ad ¢ ADbd & VfcasIiRe ufdter 3
fop=il farrT b1 sicduvT @2 forsad forderol d v a9 gbR ol Aaddr 3irdl 3 =iailRie Yercticl @ gfer st @ efedplvil @ s 3 smu
g foread forral A & b saR eftcapivil 3 uf¥adet s 3 - @, Afe U ATaenell adolr ad, MU dSdad A6 B AP & b "1 Yella aiar 3"
o5 Jorat uf¥ador smem

eIl zffewmlur & siforIf

eIl eftemivr &I vas = 3 5 3ma w3l off smead o1l & ADA 3 5 smud Je fpaot D A A8 T S MU FWeTdg TRADI D R
uGd 3, dl aRII MUDI AeAIcHAD SileIbRI et 36 3, ar ifderd, a1 Sloil a1 ARBAYUT ? MU e DI A AT RIRRT A 3IcTPT DA BIdN? AT Jol
AGA 1A AAFAL A A T Rrored1 Ao ersil¥iw sreRienciddl wa & (-l arc 3 udr acrar 8 foo 5121 g0l dear A o a6 dl ardd
3 cRa® &b e a1 3BT I o )

What are the materials/things which are to be accessible to a scholar for historical research?

q Dlol-2f ABRIT /azqy T e ao WerIRI® siaRiars & e fpedl Rige &I uga seh afde ?

[Question ID = 2186][Question Description = S2_qSNz_PG_MCJ_Q91]
1. Library/gzawmrert [Option ID = 8741]

2. Computer and information/@w]ez 3iiz Jaon [Option ID = 8742]

3. Library, Computer, and Information/gsdeicrr, ®wie? 3z 3aet [Option ID = 8743]
4. Stored material/sisii¥a 2mesg [Option ID = 8744]

Correct Answer :-
e |ibrary/gyzamrcr [Option ID = 8741]

2) Read the given passage carefully and answer the questions that follow

Historical research offers an investigator interesting ways of looking at how our ideas about various topics, events, and
personalities have evolved. Such research can be inexpensive to conduct, and many of the materials (at least those you will
need for this exercise) are relatively easy to work with. All you will need for the purposes of this exercise is a decent
library. If you have access to a computer and information on the Internet, that is even better.

Consider, for example, a subject similar to the one you will be undertaking: the image of professional athletes in the
popular press. By popular press, | mean newspapers, magazines, and popular books (we could add radio and television
commentaries also, collecting data from those sources is more difficult). By researching historical coverage of athletes in the
popular press, you can see for yourself how. Americans' ideas about athletes have evolved over the years, from (to simplify
matters somewhat) adulation to rather negative attitudes in many cases. You might be able to find articles about certain
events (such as when Mike Tyson bit the ear of Evander Holyfield) that you think have been of major importance in leading
to these changes. You could cite these events and make an argument about their significance. There is something exciting
about investigating a subject from a historical perspective and drawing conclusions. In the case of Americans' attitudes
toward professional athletes, you may conclude that our attitudes have changed - or, if you wish to be cautious, you may
say only that they seem to have changed.

Disadvantages of a Historical Approach

One problem with a historical approach is that you can never be certain how accurate or correct your sources are. When
you read articles by sports writers, are you getting factual information, opinion, or some combination of both? How do you
separate fact from opinion or interpretation? This is one of the most common problems that historical researchers

face. (Sometimes, one discovers that what one thought was a fact is in reality, a writer's interpretation or opinion.)

forgaifeiRaa srerior oI ug 3z gl & IR S -

MeBIRIG SiG[RAes! A FGAUD Bl AT W0l D AAD D Biera 3 15 fafdioor freril, areaai siiz saftp:al & an i saR Rearl d fva yor
uf¥adiol 3T 3 VAT eIRieeT Dol 3 3Uferd R I8l Biar 3iik agdA-2H AFMBRI (a2 oA 531 ORI A tel AABERIN 6t smagamar 8t 3 ) A
DRI DIl JUGIDA A BIdl 8 57 DRI D 18 Ul ddct T IURYED GadIcr bl JraeAaddl sbil Al MUD U DRIE? 3R $colc IR
JIoll <l IucTetdl dw Ugd al dl 3 9ff 6k & IoIe0T B fe1e 31y Sil feRT Foidl IR [retd-Serd fasrr @I o ci: iU YA 3 AR
Fercficl bt SR "clioiipr g A A ARt $ TarERUg, ufeTS s die-yafia grads (s o 33 stz cfifirster Bt waflal @ it



AfdAfa o2 ADd &, uR ol Yyl A AP AYRdA Dol 3iferd Dfdol 3 ) clpl Y 3 Verchicl @ VIR dasl oI eRicenel P26l UR 3T
IR ¢ ADd & (b o1 auf 3 verelic @ forern 3 spriics:l @ R 3 v YR uf¥ade 3R 3 - rcafid goiar (AIST IRcD0T B 38) A
e B¢ ARIC 3 PIBI 56 AP IPRICHD eftcdIvil acw Y ufkadet ol 3 #Ascayut yfdret ool arcll s aconsil (SR S AB® <IsAT of AT
Blciiblcs @1 ®lel P forIr o) Uz U] ord firer JABd 3 31U sof TcoIsil &l aratl o2 sold> Aewd DI dd ¢ Adbd & OfcrsIie ufdter 3
fon=1t farerr @1 srcdwur @2 forsad ool i v fa9T gasr &bt Aawmdr sirdl 3 R Vercfic @ yfer saffesadl o eftcmloil & amerct # smu
15 forcastt forpIct Ama 3 b s eftcmivil 3 uf¥ader s 3 - &, afe smu ATaeclt adelr aIg, MU dad As B ADA & b VAT Yedida arar 3"
5 Sorat uf¥ador smem 3

e eftemivr i siforit

eIl zficmIvur bt v waz=n 3 5 3mu ot off srad ordl 3t A T b U a fbdo! AAD W A T S MU Welds TRa®l D R
uGd 3, dl TRIT ATUDI AAICHAD SileIbRI et 38 3, ar 3ifderd, a1 Sioil @1 ARAYUT ? 3T deq Dl M¥EIA AT RIFRT A 3IcPT DA BId/N? AT Jol

AR 3 AIFAL3L 3 A 3 SreIepT Aol BfBIRID SoRitoimdl w8 (psfi-ooil & 31 uedr rerar 3 o ORI setol A IS a1 98 dl aRad
3 cRa® &I RS A1 3ADT AP o1 )

What did the author want to convey to the readers through the example of the ‘professional athlete'?

"IaAIRIDG Verchicl” @5 IGERUT @ HIEA A AAD of UIGD] DI TAT Ao 9l Soll ATBI 3 7

[Question ID = 2187][Question Description = S2_qSNz_PG_MCJ_Q92]

1. Athletes change over time/3wrr @ mer dereflel & uf¥ader 2t s 8 [Option ID = 8745]

2. Evolution of ideas during a period of time/vd JerImafel @ cirer fari 3 uf¥ador smenm [Option ID = 8746]
3. Easy to conduct historical study/dfereR sierror 3t 2erar [Option ID = 8747]

4. Popular press does not conduct research/cli®fiRI J21 sioRietiel ofét @l 3 [Option ID = 8748]

Correct Answer :-
e Athletes change over time/3wrRI @ el berefiel 3t uf¥ader &l srar 8 [Option ID = 8745]

3) Read the given passage carefully and answer the questions that follow

Historical research offers an investigator interesting ways of looking at how our ideas about various topics, events, and
personalities have evolved. Such research can be inexpensive to conduct, and many of the materials (at least those you will
need for this exercise) are relatively easy to work with. All you will need for the purposes of this exercise is a decent
library. If you have access to a computer and information on the Internet, that is even better.

Consider, for example, a subject similar to the one you will be undertaking: the image of professional athletes in the
popular press. By popular press, | mean newspapers, magazines, and popular books (we could add radio and television
commentaries also, collecting data from those sources is more difficult). By researching historical coverage of athletes in the
popular press, you can see for yourself how. Americans' ideas about athletes have evolved over the years, from (to simplify
matters somewhat) adulation to rather negative attitudes in many cases. You might be able to find articles about certain
events (such as when Mike Tyson bit the ear of Evander Holyfield) that you think have been of major importance in leading
to these changes. You could cite these events and make an argument about their significance. There is something exciting
about investigating a subject from a historical perspective and drawing conclusions. In the case of Americans' attitudes
toward professional athletes, you may conclude that our attitudes have changed - or, if you wish to be cautious, you may
say only that they seem to have changed.

Disadvantages of a Historical Approach

One problem with a historical approach is that you can never be certain how accurate or correct your sources are. When
you read articles by sports writers, are you getting factual information, opinion, or some combination of both? How do you
separate fact from opinion or interpretation? This is one of the most common problems that historical researchers

face. (Sometimes, one discovers that what one thought was a fact is in reality, a writer's interpretation or opinion.)

forgaifeiRaa srerior oI ug 3R Yool & IR S &

MeRIRIG SiofRienel A AGATD DI AT Aol D AP d3iD Bieral & v fafdear fareril, aconail siik cufepl & arR 3 saR far! 3 fpa yor
uf¥adol 3R & VAT 3GIRi¢ITel B0l 3 LD R o1dl Il 3R Tga-Hl ABRI (Dot A DA 331 PRI A Frar ABRI &I sragamarn axedl 3 ) A
PRI B0l UL AT BT & 33 DRI & 1T Ul dact U IUYTh YIAdIcRI Gl a9l apll Aafe s URT BRIg? 3R $colc U2
Ferol Bl IucTeLIdr ad ugd Al dl 3R off JeR 3 3c1820T @ forw 3mu St farerT ool 3R Bier-Serd farerr @ a of: clioitRr 91 3 saranRe
Vercficl &t sfa "clieftRr 91" A A0 arcwRl 3 JdraRU, uf@rd iR dis-gaferd aad (33 sordl 33T silz eclifdster & wafel o off
AfdAfera o2 ADd &, uR ol Yl A AP AR Dol 3iferd ofdol ) clipiR Y 3 Verchiel @ VereIRid dast oI eRicenel Pl UR 3T
TRl 33 Aba 3 b fera aul 3 wercfidl @ forerr 3 serdifeneil & frar 3 b1 yor uf¥ada s 3 - srcaferes yoiar (st 3Rcllaur B 3u) A
cIp? @ AAcll A DIbI 86 AD IPRIcAD ftcdIvil ad A uf¥dacdol ool 3 Ascayyt yfdrmr fomirol arell @ acolrsil (S S ASD ISl of $AS?
Blciiblcs @I ®lel I forIr o) uz Ul ord firer TABpd 3 31U sof Trconsil &t aral 2 soId> AT DI ad ¢ ADbd & VfcsIiRe ufdter 3
fop=il farrr 1 sicduvT @2 forsad forderol d U A9 gbR ol Aaddr 3iidl 3 =ialRie Yerciicl @ gfer st @ effedplvil @ awic 3 smu
g forcaod forrct A 3 b san eftemivil 3 uf¥ader s 3 - &, afe smu Araeclt dxdelr a1, MU dad As B ADA 3 b "1 gedia arar 3"
o5 Jorai uf¥adior smem

eI efRcmivr & siferit
eIl eftemivr &I vas = 3 5 smu ol off smead o1l & ABA 3 5 smud Fe fpaot D A A8 T S/ MU Weldg TRADE D R




aGd 3, dl @RI U] aeAIcHAD Slolbil f3ret 28 3, a1 3ifierd, A1 Sloll o1 ARFAYUT ? MU ALy DY A AT RIRRT A 3ICTPT DA B! AT Jol
AR 3 AIFAL3L 3 A & SIeIepT Ao UTBIRID SIoRitoindl w8 (psfi-ooil & 31 uedr arerar 3 o ORI setel A AN a1 98 dl aRad
3 cRa® &I RS A1 3ADT I o1 )

What did the author want the researcher to do with historical events?

crRae SiasIRe acsiisll A SeRareIadl A aRII wIdlell a5l 3 ?

[Question ID = 2188][Question Description = S2_qSNz_PG_MCJ_Q93]

1. Investigate and develop a perspective for conclusion/smeauur a2 foraput & fore uf¥iger R @3 [Option ID = 8749]
2. Write an elaborate note/fi=qa fewvft ferrd [Option ID = 8750]

3. Present a narrative of several similar events/@$ 3te9r aconaii @1 f@ur yzga @2 [Option ID = 8751]

4. Change attitude/zfRewur 3 ufsadst eme [Option ID = 8752]

Correct Answer :-
e |Investigate and develop a perspective for conclusion/sredwur @2 foraput @ fére uidtger fawRea o2 [Option ID = 8749]

4) Read the given passage carefully and answer the questions that follow

Historical research offers an investigator interesting ways of looking at how our ideas about various topics, events, and
personalities have evolved. Such research can be inexpensive to conduct, and many of the materials (at least those you will
need for this exercise) are relatively easy to work with. All you will need for the purposes of this exercise is a decent
library. If you have access to a computer and information on the Internet, that is even better.

Consider, for example, a subject similar to the one you will be undertaking: the image of professional athletes in the
popular press. By popular press, | mean newspapers, magazines, and popular books (we could add radio and television
commentaries also, collecting data from those sources is more difficult). By researching historical coverage of athletes in the
popular press, you can see for yourself how. Americans' ideas about athletes have evolved over the years, from (to simplify
matters somewhat) adulation to rather negative attitudes in many cases. You might be able to find articles about certain
events (such as when Mike Tyson bit the ear of Evander Holyfield) that you think have been of major importance in leading
to these changes. You could cite these events and make an argument about their significance. There is something exciting
about investigating a subject from a historical perspective and drawing conclusions. In the case of Americans' attitudes
toward professional athletes, you may conclude that our attitudes have changed - or, if you wish to be cautious, you may
say only that they seem to have changed.

Disadvantages of a Historical Approach

One problem with a historical approach is that you can never be certain how accurate or correct your sources are. When
you read articles by sports writers, are you getting factual information, opinion, or some combination of both? How do you
separate fact from opinion or interpretation? This is one of the most common problems that historical researchers

face. (Sometimes, one discovers that what one thought was a fact is in reality, a writer's interpretation or opinion.)

forgaifeiRaa srerior oI ug 3R goll D IR S &

MeRIRIG SiofRiened A AGATUD DI AT Aol D AP d3D Bieral & v fafdear fareril, aconsil siik cufepdl & arR 3 aR ARl 3 fpa yor
uf¥adol 3R & VAT 3MoIRi¢ITel B0l 3 LD R oIdl Il 3R Tgd-Hl ANBRI (Do A DA 331 PRI A ror AP &I sragamarn axedl 3 ) A
PRI B0l UL AT BIdT & 33 PRI B 10 Ul dact U IURTh YIadIcRI Gl a9l el Al U URT BRI 3R $colc U2
JJerol Bl IUCTeLIdr ad ugd Al dl 3R off JeR 3 318201 & o1 3mu St farerT golol 3R Bieri-Sera farerr @1 a of: cioitRr 91 3 el
Yercficl &t sfa "clieftRr 9" A A0 arcwRl 3 AR, uford iR dis-yaferd aad (33 sordl 33T siiz eclifdster & wafel o1 off

AR 2 ADd &, uR sot Yl A AP A3 Dol 3iferd Bfdol ) el Yu 3 Verchicl @ VereIRid dast oI eRicenel P36l UR 3T
TRl 33 Aba 3 b 1 adl 3 wercfidl @ forern 3 serdifenel & forar 3 51 yor uf¥ada s 3 - srcaferes yoiar (st IRcliaur B 3u) A
cIp? @ AwAcll A DIbI 86 AD IPRICAD ftedIvil ad A uf¥dacdol ool 3 AAscayvt yfdrer fomrol darell @ acolrsil (S Sl ASD ISl of $AS?
Blciibics @1 ®lel I forI o) uz Ul ord firer I 3 31U sof Trconsil &t aal @2 soId> AT DI ad ¢ ADd & ViR ufdter 3
fop=il farerr b1 sicduvT @2 forsad forderol 3 U A9 gbR ol Aaddr 3ircdl 3 =ialRie Yercticl @ gfer st @ efReplvil @ s 3 smu
s forcad formpral A & b saR efteapivil 3 uf¥adet smen 3 - &, Afe su ATaenell adolr a1F, MU dSdad A6 B AP & b "1 Yelia aiar 3"
o5 Jorat uf¥ador smem

eIl zfRewmlvr &l siforIf

eIl eftcmivr &I vas = 3 5 sma ol off smead o1l & ADA 3 5 smud Fe fpaot D A FE T S/ MU FeTdhg TRAD D R
uGd 3, dl aRII TUDI AeAIcHAD SileIbRI et 36 3, ar ifderd, a1 Sloil a1 ARBAYT ? MU deA DI A AT R A 3IcTeT DA BIdN? AT Jol
AGA 1A AAFAL A A B rored1 Ao esil¥iw sreRiensiodl wa & (-l arc 3 udr acrar 3 foo 3121 g0l dear A o a6 d) ardd
3 cRa® &b e a1 3BT AfEIA o )

What, according to the author, is the most uncertain aspect of historical research?

TRAD D ARIR VBRI elctel Bl AR sifdastoiia use o= 3 ?
[Question ID = 2189][Question Description = S2_qSNz_PG_MCJ_Q9%4]



Certainty about history itself/sfesR1 & smueft fdeaofiziar [Option ID = 8753]

Certainty about the sources/3jidi &t faeaoflerar [Option ID = 8754]

Certainty about the problem/3w=n &t faeaofiziar [Option ID = 8755]

Certainty about the research parameters/ sttt smucst i feameiiiar [Option ID = 8756]

A W N -

Correct Answer :-
e Certainty about history itself/sfeerRt i 3ol fd=aieiiziar [Option ID = 8753]

5) Read the given passage carefully and answer the questions that follow

Historical research offers an investigator interesting ways of looking at how our ideas about various topics, events, and
personalities have evolved. Such research can be inexpensive to conduct, and many of the materials (at least those you will
need for this exercise) are relatively easy to work with. All you will need for the purposes of this exercise is a decent
library. If you have access to a computer and information on the Internet, that is even better.

Consider, for example, a subject similar to the one you will be undertaking: the image of professional athletes in the
popular press. By popular press, | mean newspapers, magazines, and popular books (we could add radio and television
commentaries also, collecting data from those sources is more difficult). By researching historical coverage of athletes in the
popular press, you can see for yourself how. Americans' ideas about athletes have evolved over the years, from (to simplify
matters somewhat) adulation to rather negative attitudes in many cases. You might be able to find articles about certain
events (such as when Mike Tyson bit the ear of Evander Holyfield) that you think have been of major importance in leading
to these changes. You could cite these events and make an argument about their significance. There is something exciting
about investigating a subject from a historical perspective and drawing conclusions. In the case of Americans' attitudes
toward professional athletes, you may conclude that our attitudes have changed - or, if you wish to be cautious, you may
say only that they seem to have changed.

Disadvantages of a Historical Approach

One problem with a historical approach is that you can never be certain how accurate or correct your sources are. When
you read articles by sports writers, are you getting factual information, opinion, or some combination of both? How do you
separate fact from opinion or interpretation? This is one of the most common problems that historical researchers

face. (Sometimes, one discovers that what one thought was a fact is in reality, a writer's interpretation or opinion.)

forgaifeiRaa srerior o1 ue 3R Yool D IR S &

OfeBIRID MGG A cdUD DI As ol D AAD D fIerd & b fAafdeer faeril, aeasii ik caftpl @ arR 3 saR Kari 3 o1 yor
uf¥aciot 3R 3 VAT cIeIT6l Dot A 3Mferd RRI o1dl Idr AR aga-2Hl AP (B A oI 53 BRI A el ATABRIT 6 smagacar aidl 3 ) A
DRI Dol ISR AT Bdl 3 57 DRI d 18 Ul dacd T IWYD YIadIcrd &l sraeAaamdr gl Al 3Mud urd dRIg? 3k $colc iR
IJarol Bl IUCTeLIdl ad Ugd Al dl 3R off JeaR 3 3c1820T & forw 3imu Sl farerRT ool 33RY Brera-gIera farerr @ a of: cliepitRr 91 3 nanRes
Yerefiel 6t sfa "R 91" A A1 arcwRt @ JeIraru, uferd ik dis-yaferd zad (3 ot 3331 3iiz eclifistar &t wdfeal o1 off
AfdafeTa @2 AP 3, U= so1 Udl A AiDs A3 Dol D Bfdel & ) DI YA # Verelic @ MR wasst oI oRIcEs M0l UR 3T
IR ¢ AD & (b o1 adf 3 wereiicl @ forerr 3 spRiics:Il @ R 3 v YR uf¥ade 3R 3 - cafid gl (AIST IRCIDUT B 38) A
cIp? D¢ AWKl A DPIBI 56 AP oIPRICHD EftcdIvli dd A ufyadol cilol 3 Ascayul yfdrmr forrol drell B acolIail (S S ABD <I$ol of A3
Biciibles @I ®iol BIc foRI o1) uR 3mud! o Bt ABad T 31U so1 aconail bl aaf ©2 soId HeTd BT ad ¢ ADA & VfceIRis uf¥tgr i
fop21t forerr o1 sreaHUT @2 forsar forapetol 3 was fA9y yasR & Jaar siredl 3 craniRie Verefict @ yfer s@iffepal @ el & aprer 3 smu
15 forcast fortct A 3 b zaR eftcmivil d uf¥ader s 3 - &, afe smu Araecl aden aIg, MU dad AE B ADA & b AT yelia arar 3"
fop 3otet uf¥ader smem 3

SfersIRiem zffeamlvr bl siforRIf

eI efiemivr &I v 3= 3 b 3ma il 9ff smeaeda ordl 8l A 3 b U e ool Ak a1 A8 S MU Weldpg clADI D ol|
aGd 3, dl I U] deAIcHAD Slolbil f3ret 281 3, &1 3iferd, A1 Sloll o1 ARFAYUT ? 3T LA DI I AT RIRSRT A 3MCTT DA B! AT Jol
AR 3 AIFAT3L 3 A & PIeIpdT A6 UTBIRID SIGRitoindl w8 (Pii-oil &6 31 udr rerar 3 o fSRI sdtol A A AT 98 dl aRad
3l cRa® b ARSAT AT DT AP o1 )

What is the most common problem that a researcher faces while conducting historical research?

RBIRIG SIGIRAEITeT AT TR AGIALIGIBAL & ATHO! AT A AHAIRT T 3Tl 3 ?

[Question ID = 2190][Question Description = S2_qSNz_PG_MCJ_Q95]

1. Collection of proper facts/3w@t a1 JeEla @en [Option ID = 8757]

2. Authenticity of the material/msft &t ygnforaar [Option ID = 8758]

3. Writers may have multiple copies of the same material/cxamt @ urRt veb &t el & o yferit 8t Aracdt 2 [Option ID = 8759]
4. Separating facts from views/aea @1 efteapivr 3 sicter w2t [Option ID = 8760]

Correct Answer :-
e Collection of proper facts/w@l aex AsEla won [Option ID = 8757]

Topic:- 63MassComJourn_C



1) Read the given passage carefully and answer the questions that follow

One important lesson for communication study from the work of the Palo Alto group is to focus on problems of
communication, as well as on the presumed positives. "The attention paid by Bateson, Watzlawick, and others to paradox,
confusion, manipulation, noncontingency, and even disinformation...suggests a very different way of looking at human
communication from that which has reigned in recent wisdom" (Wilder 1979). So, for example, communication study of such
topics as self-disclosure and openness should be balanced by the study of ambiguity(Eisenberg 1984), deception, and
deviousness. Certain situations like diplomacy, love, and business negotiation call for deliberate ambiguity rather than
directness and clarity. The perspective of the Palo Alto group presses for an awareness of equivocal communication (Bavelas
and others 1990), an understanding of communication pathologies, search for the nature of self-referential contradiction
like paradox, and to question whether more and clearer communication is always functional.

The group states that human communication is not just conscious, intentional, and successful as a step towards mutual
understanding by two or more participants. The exchange of information between individuals can also be nonverbal,
unintentional, paradox-creating, and useful as a therapeutic technique. The perspective of the relational communication
scholars is cybernetic, ecological, and based on systems theory. It does not fit with the dominant epistemology of
communication study, which is one reason why the interactional theory of the Palo Alto group has not had more impact on
communication study. The dominant focus of communication research is on investigating effects. In contrast, interactionist
theory seeks to answer an entirely different kind of important question. This difference may explain why the Palo Alto
group has not received more attention by mainstream communication scholars in the United States, who are chiefly
concerned with studying effects.

The Palo Alto scholars oppose effects research, cast in terms of one-way models. "It could be argued that S-M-C-R (source-
message-channel-receiver) was not extended as a 'model’ of communication, that it met none of the tests of theoretical
modeling, and that it was developed as an audiovisual aid to stimulate recall of the components of a communication
relationship”(Berlo 1977, p.12). One-way models may be quite appropriate for persuasion, propaganda, and studying mass
communication effects, but the linear causality assumed by such directional models does not fit with a version of human
communication as interrelationships and as a process of mutual influence.

il fSu 31U SrEr9l ol eAIgdd UGm? 33 UR Menfed gl @ Ik SIS :

Ucil 3[c<l AP D AR - UKol D e fpu R DRIf A U R 3T 3, b AR &I JI=msil UR &1l DIGA D0l @ AT - AT YddroAd
APRICAD d Yol Ugll U off &ael Sar 3 "'dedel aicseniad 3R 36 fAgasiell gRI fassdon, faujifcl, eoriznee, 31 - stolRaomar sk Jst
a® b areRee wu A & o1 ywEie JYaolr 6 3N 3T 310 16t A Aol AR B aR 3 U 95 f3eol oIl Qigd alar & Sl sifern ysi 3 gaa
W3 (arscs2 1979) 33 YR G B dlR UR AIcH Ym0t iz urciOfar Si) fawrll & JdrR sieriel @t Afeseneiadr a5 3ol GRI
JAdfera fopn sien anfde  (smssierast 1984), e siik diquar @eofifer, Ja ik canlRie ardaf 3 geaeidn ik Fusedr &l SeIRI Al 9A
fstefopa M3 et 3 Ui sice 3P D Hool I Lyaiell siar &t sepfer, ar Rpfr Risre B Jeiwst, ¥ - scfa RRemny e - fisgeon
3R 33 ST DI YSIoId Dl b o=t 3iiR S1feres qer 3Mgad I FUTte IR ASd YPRICHD 3 1@l o1dl; UR oe fur srn 3 (Jacrt ud
3rea1, 1990)

$A YT DI Dol 3 [ob Alold AR Sl @I 3 A 3iferd gfernnBrIl grRI uruR et &l feon 3 #rg Ide1, A9 3R ABd ocH odl 3 cafepal
@ IHEA TG DI 3MIGI6l - YgIol AMfSed , forseed, fRISaallcurdt iR SURMRICHD® Adolid d 14 3 UL 9ff 31 DAl & ALUTCHD IAR D
fagTell @I gl AT, el ik guirell Rigid snenf¥a 8 as AR 31eRIol I Y SielidARI @ 31614 ofél 3, $il Ud DRI A
el 31eel e D ia:fprcas Rigia o1 Jar 1eRIel Uz 3iferes g ofdl 381 3 Jar ofel 3 Ygzad: YHid @ 3cdyul UR £rel diga fdpr
SIICHI 361 3 s faudia, sia:fgzncae Rigiad«r o smert Fguid: fioel YR @ goel @I 3a2 Joll 3 3 ke A 331 aga &l care 3t Ad«dl o
Tell 31 IS AT A FATIDI 3 IXRILRT D AaR oNenefforT St JRRIA: YoIId D 1L A AdfeUd 3, Iorpl M2 &:aTol bt dw2or 3 =il
fawser 361 3 Ul srca) @ onenreff b - fGofier yfeeu @ Aocef 3 ypma ofter @ foRier 3t ¥ "as aws fam s AAwar & o5 v va Al s (P - ASor
- LA - APJED) DI fARAR AdR D W YieReu' & 3U 3 o181 o sk b g6l Agiferd yfereuur o 5=l off uigror & araeimsii o g1 o1dt
fop=nr iR 16 fop 321 TR - Ade D ITCDI D Yol:3IRVI DI dGlol D foIfdrd 9T - 299 UMD B WU d fplRia o sk ' (aedt, 1977, gss
12) uo 9l gfereu 3eloRIol, YaR 3iiR SoRIAR 31¢RIol @ fo1fdr fcer AAuRITs 3 Abdr 3 fpoq 331 aes @ el gfereu & uf¥vimerrasua
Qigd 31 I RAB sfod: Adel 3l uzrur gena &t gfipn @ 4 3 HAlera AR @ 9ol & el odl 3

What is meant by 'relational communication'?

"HdEIcHAD AR A =T A 3 ?

[Question ID = 2191][Question Description = S2_qSNz_PG_MCJ_Q96]

1. Communication related to objectives/3goa 3 dfeia 2far [Option ID = 8761]

2. Communication taking into Consideration the verbal aspects/onfése usli w forare @l gu fdpan sk @R [Option ID = 8762]

3. Communication encompassing all types of components present in the context/3igsi 9 Acsida il yorR @ Aeed] I Wildd Dkl ge [ srn Aar [Option
ID = 8763]

4. Communication between sender and receiver only/que 3ik ftredt @& 1e1 e [Option ID = 8764]

Correct Answer :-
e Communication related to objectives/3g9w 3 3féra 3ar [Option ID = 8761]

2) Read the given passage carefully and answer the questions that follow

One important lesson for communication study from the work of the Palo Alto group is to focus on problems of
communication, as well as on the presumed positives. "The attention paid by Bateson, Watzlawick, and others to paradox,



confusion, manipulation, noncontingency, and even disinformation...suggests a very different way of looking at human
communication from that which has reigned in recent wisdom" (Wilder 1979). So, for example, communication study of such
topics as self-disclosure and openness should be balanced by the study of ambiguity(Eisenberg 1984), deception, and
deviousness. Certain situations like diplomacy, love, and business negotiation call for deliberate ambiguity rather than
directness and clarity. The perspective of the Palo Alto group presses for an awareness of equivocal communication (Bavelas
and others 1990), an understanding of communication pathologies, search for the nature of self-referential contradiction
like paradox, and to question whether more and clearer communication is always functional.

The group states that human communication is not just conscious, intentional, and successful as a step towards mutual
understanding by two or more participants. The exchange of information between individuals can also be nonverbal,
unintentional, paradox-creating, and useful as a therapeutic technique. The perspective of the relational communication
scholars is cybernetic, ecological, and based on systems theory. It does not fit with the dominant epistemology of
communication study, which is one reason why the interactional theory of the Palo Alto group has not had more impact on
communication study. The dominant focus of communication research is on investigating effects. In contrast, interactionist
theory seeks to answer an entirely different kind of important question. This difference may explain why the Palo Alto
group has not received more attention by mainstream communication scholars in the United States, who are chiefly
concerned with studying effects.

The Palo Alto scholars oppose effects research, cast in terms of one-way models. "It could be argued that S-M-C-R (source-
message-channel-receiver) was not extended as a ‘'model’ of communication, that it met none of the tests of theoretical
modeling, and that it was developed as an audiovisual aid to stimulate recall of the components of a communication
relationship”(Berlo 1977, p.12). One-way models may be quite appropriate for persuasion, propaganda, and studying mass
communication effects, but the linear causality assumed by such directional models does not fit with a version of human
communication as interrelationships and as a process of mutual influence.

il fou 31U SrEri9r Bl eAreIydd UGd: 3 UR menfsd gesil & IR I @

Ucil 31c<] AP D AUR - &6l D fe1u fpu oK BRIf A v @R I9rdar 3, b Iar &l W=l UR €161 BIGA Dol D ATA - AT YdATRT
IADRICAD d YeAgl Usll U= off €Arel SA1 3 "deiol argsanfad 3R 316d fAgasiell GRI fassdo, fayifel, orRkues, 31k - snmlRuamar iR ast
a® b AareiRa® wu A & 91 ywEIs ol &I 3R U 31v earet I Hiold AR B aR 3 U agd ool oIeIiRI Qigd alar 3 Sit sIfern ysir d yac
W g (arscs? 1979) 33 YBR IS8T D AR UR 3MIcH YDEIdUT 3R URGHIAT SRl [l @ IR 31¢RIel @l Jfcseneiamdr @ 31eRe SRI
JAdqfera oo siron @nfde  (3ussiciast 1984), e SiiR diqudr  deoilfel, et il craARie ardi 3 yeasidr iz Fusedl &l §eIRI AlgeAa
fareforar rafdra axclt 3 Ul srect 3E D Aol A fareff Far & siefer, Far Rt frstrer 6t Jegsr, Fa - e fRrlemsmy e - frsFon
3R 3 &I DI YoSIoId Dol b a=aT 3iiR 3iferes aen 3rmgad Sif2e Fute IR ASd YPRIcHAD 3 1@l oldl; UR e {1 srn 3 (Jacri ud
36, 1990)

33 AT DI Daoll & b Ireld AR X 3rerdr 3 3 M2 giepnlPril gRI useuR A9rEr &b fRon 3 A IAqe1, AR 33 AGC G ofdl & cafepsil
@D AR IToIT DI 3HISIol - YgTol 3ronfecd , forsged, fSTaicurd] ik SUTARIcAD Aol @ 34 A IuRIPH 9ff 3l ADdar 3 Adenca® AR D
frgrell @1 el Aaait®, uiii¥eferdia iz yunell Rigia snenfra 3 s AFar 3ierIer Bl yga sieefidian @ 3igsu oidl 3, 32l vas drur A
Ul 31cc] g D i [aRIcad RIgid oI IR 3R UR D YId o181 61 8 AdR ollel I YIHd: YId d Hodyul UR &6l Digd fopar
SIAr @1 3 s faudia, sia:fiparcae Rrgiadsr ot smert AYuia: fieel Yor @ Yool &I 3= Sall 3 A g A 331 aga &l sar 3t Ad«dl i
Tcll 31 T AT A FATIDBT 3 FITRILRT D AaR onenefforor it JRRIA: YoIIa D 31ERIT A AT 3, Iorpl Mferap &rol bt w2or 3 =il
freer va1 3 el srcc @ ofteneff uas - Rofikr gfereu @ Frocs! 3 goemma ofter & RRYer 3 3 "ae ads 31 s wrwar 3 6 v va 2t sme (a - AS9r
- HIEAA - APJIED) Dl AR FAarR & ¥ gfersu’ & 3u I &l e sk 6 326l Agiferes yfersuur & e off udtervr &bt srdgmsil @1 g1 ordl
fopan 3R B b 331 AT - Hder D Aaedl D Yol:39RVI Dl §6Tol B IRt 91 - 293 IUmUT @ WU 3 fplR1da fopan srn ' (aeil, 1977, gso
12) v ol yfereu sreforIel, Yar 3R SoRIAR 31erIol @ foifdrd ficaget JURIT 8l Apar 3 Rpoq 331 e @ ol yfereu @ uf¥viprazsu
Qlga ¥R s Reradr siod: Ade iz uRruR gera &t gfipan @ U 3 Al AarR B gofel & siofeu ol 3

What kind of communication was paid attention to by the Palo Alto group of researchers?

Ucil 31e<l g D 9Nerbeisii of b yor @ Aar &l 30 &l o= ©

[Question ID = 2192][Question Description = S2_qSNz_PG_MCJ_Q97]

1. Straight and clear communication/yeist siiz Juse @R [Option ID = 8765]

2. Communication which are not clear/¥3 @R sit 3uce o&f 8 [Option ID = 8766]

3. Communication which are directly addressed/zr i yeet dterst gl & [Option ID = 8767]
4. Communication related to wisdom/ygzir 31 Jféra ez [Option ID = 8768]

Correct Answer :-
® Straight and clear communication/geiet siiz Juse R [Option ID = 8765]

3) Read the given passage carefully and answer the questions that follow

One important lesson for communication study from the work of the Palo Alto group is to focus on problems of
communication, as well as on the presumed positives. "The attention paid by Bateson, Watzlawick, and others to paradox,
confusion, manipulation, noncontingency, and even disinformation...suggests a very different way of looking at human
communication from that which has reigned in recent wisdom" (Wilder 1979). So, for example, communication study of such
topics as self-disclosure and openness should be balanced by the study of ambiguity(Eisenberg 1984), deception, and
deviousness. Certain situations like diplomacy, love, and business negotiation call for deliberate ambiguity rather than



directness and clarity. The perspective of the Palo Alto group presses for an awareness of equivocal communication (Bavelas
and others 1990), an understanding of communication pathologies, search for the nature of self-referential contradiction
like paradox, and to question whether more and clearer communication is always functional.

The group states that human communication is not just conscious, intentional, and successful as a step towards mutual
understanding by two or more participants. The exchange of information between individuals can also be nonverbal,
unintentional, paradox-creating, and useful as a therapeutic technique. The perspective of the relational communication
scholars is cybernetic, ecological, and based on systems theory. It does not fit with the dominant epistemology of
communication study, which is one reason why the interactional theory of the Palo Alto group has not had more impact on
communication study. The dominant focus of communication research is on investigating effects. In contrast, interactionist
theory seeks to answer an entirely different kind of important question. This difference may explain why the Palo Alto
group has not received more attention by mainstream communication scholars in the United States, who are chiefly
concerned with studying effects.

The Palo Alto scholars oppose effects research, cast in terms of one-way models. "It could be argued that S-M-C-R (source-
message-channel-receiver) was not extended as a 'model’ of communication, that it met none of the tests of theoretical
modeling, and that it was developed as an audiovisual aid to stimulate recall of the components of a communication
relationship”(Berlo 1977, p.12). One-way models may be quite appropriate for persuasion, propaganda, and studying mass
communication effects, but the linear causality assumed by such directional models does not fit with a version of human
communication as interrelationships and as a process of mutual influence.

SiiY fSu 31U srErior ol eanyde ugm: 33 UR renfed ygsil & 3a= S :

Ucll 31c<l AP D AUR - 3EAol D fe1u fpu oR DRIl A v fGar suar 3, b IFar &b AaF=sll UR &A161 DBIGA Dol D ATA - AT YdATRT
APRICAD d gl Ugll UR off &arel Sar 3 "'dedel aicseniad 3iiR 36 fAgasiell gRI fassdon, faujifa, oriznee, 31 - stolRaomar” s Jsi
o {5 arefies wu A & o1 Yy Jao b 3z U 318 1ol A Hlold IFaR B G I Ub agd ool oLl Qigd JXar 3 Sit sIfer ysir 3 gec
W3 (arscs2 1979) 33 YR IS B dlR UR TcH Ym0t iz urciOfar Sit fawril & Jar sierrel @t Afeseneiadr o> 3reRIol gRI
JAdfera fopan sien anfde  (sussierast 1984), e siik diqudal @eoiifer, Ja ik caranRie ardl 3 geagidn ik Fuscdr &l SeIRI Alg9A
fareforar srafdra axdft 3 Ul srect w3 D Hoof A fareff Far & sIefer, Far e Rsrer &t Jegsr, ¥ - el fRrlemsmy e - fRssaoen
3R A a1 DI YooIold Dol b arIT 3iiR 3Mfrad aer eIpd 2D IUT AR Acd YDRICHAD & Al olél; UR dc f$ar sk 3 (dacr=1 wd
3ree1, 1990)

$A AYT DI Daoll 3 o5 FHleld HaAR X 3rerar 31 A A gRIIPRI TRI useuz AdHst i om 3 A A1, AR 3 AG Do ofdl & cafepl
@ IHEA eIl DI 3MIGI6l - YgIol AMfSed , forsged, faSaalicurd 3R SUARIAHD® Aol B w4 3 UL 9l Bl DAl & ALUTCHAD IAR D
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Tell 31eel g D ia:fpRncas Rigia o1 JarR 31eRIel Uz 3ifere gaird ofdl 381 3 JdarR ofel 3 Ygzad: gid @ 3edyvl UR &lel diga fepr

I 361 3 s faudia, sia:fagancae Rigiad«r o smert Iguid: ficel YR @ goel @I 302 Jol 3 3 ke A 331 ag &l saren 3t Addl o
Ucll 3[c<l T AP A EHNDI 3 FITRERT D AR oNenefIo1or St FIRIA: YoIrd D 31ERI6l A AGTIA 3, IolpT 3UfeUD &aTol repftia 2ol 3 =il
fawer 361 3 Ul srcc) @ onenreff s - fSofier yfersu @ Aocef of ypma ofter o foRier 3t & "as awm fan s AAwar & o5 v va Al s (P - AS9r
- JAEJA - APJIED) DI fARAR AaR D Wi gieReu' & 3U 3 o181 o sk b g4l Agifer yfereuur o o=l off uigror & araeinsii ol g1 o1ét
fopen 3R w6 b 33 AaR - Hder & Aacdl B Yol:33RVT Bl dglol @ IfdrT 9 - 29 Iumvl & Wy 3 freRia e srn ' (acil, 1977, gso
12) v Rofir yftreu sieforIel, Yar 3k SIoRIAR 31eRIel @ foifdra Ricager AR 3l Abdr 3 Rpog 331 e @ R yffreu @ uf¥vmerasu
Qigd 3T IR sfod: Adel 3l urrur gena &t gfipn @ oy 3 Aol AR @ 9ol & e odl 3

Why was the work of members of the Palo Alto group not given importance?

Uil 31c<] AP D MRl DI gl ordl sisvd & sri ?

[Question ID = 2193][Question Description = S2_qSNz_PG_MCJ_Q98]

1. The group's study was on non-effect and non-mainstream issues /s dJg I 31eRIeT YA 9o 3N IR fATRIP el 3 Adferd oidt em [Option ID = 8769]
2. They studied only ‘effects’ of communication/3sglel @act AR @ ‘gord’ @I srezrIel fpen [Option ID = 8770]

3. The group was indifferent to communication /s J3s AR @ yfer 3erfler e [Option ID = 8771]

4. The group did not know how to conduct mainstream studies/a[g JRRIEIRI BT 31e=RI6l B0l i fafer A sefdrst e [Option ID = 8772]

Correct Answer :-
e The group's study was on non-effect and non-mainstream issues/s1 g BT 31ERI6l YoITd eI 3iR IRIIRT fwRIch g1 3 i orét em [Option ID = 8769]

4) Read the given passage carefully and answer the questions that follow

One important lesson for communication study from the work of the Palo Alto group is to focus on problems of
communication, as well as on the presumed positives. "The attention paid by Bateson, Watzlawick, and others to paradox,
confusion, manipulation, noncontingency, and even disinformation...suggests a very different way of looking at human
communication from that which has reigned in recent wisdom" (Wilder 1979). So, for example, communication study of such
topics as self-disclosure and openness should be balanced by the study of ambiguity(Eisenberg 1984), deception, and
deviousness. Certain situations like diplomacy, love, and business negotiation call for deliberate ambiguity rather than
directness and clarity. The perspective of the Palo Alto group presses for an awareness of equivocal communication (Bavelas
and others 1990), an understanding of communication pathologies, search for the nature of self-referential contradiction
like paradox, and to question whether more and clearer communication is always functional.

The group states that human communication is not just conscious, intentional, and successful as a step towards mutual



understanding by two or more participants. The exchange of information between individuals can also be nonverbal,
unintentional, paradox-creating, and useful as a therapeutic technique. The perspective of the relational communication
scholars is cybernetic, ecological, and based on systems theory. It does not fit with the dominant epistemology of
communication study, which is one reason why the interactional theory of the Palo Alto group has not had more impact on
communication study. The dominant focus of communication research is on investigating effects. In contrast, interactionist
theory seeks to answer an entirely different kind of important question. This difference may explain why the Palo Alto
group has not received more attention by mainstream communication scholars in the United States, who are chiefly
concerned with studying effects.

The Palo Alto scholars oppose effects research, cast in terms of one-way models. "It could be argued that S-M-C-R (source-
message-channel-receiver) was not extended as a ‘'model’ of communication, that it met none of the tests of theoretical
modeling, and that it was developed as an audiovisual aid to stimulate recall of the components of a communication
relationship”(Berlo 1977, p.12). One-way models may be quite appropriate for persuasion, propaganda, and studying mass
communication effects, but the linear causality assumed by such directional models does not fit with a version of human
communication as interrelationships and as a process of mutual influence.

il f3u 31U JrEri9r Bl eAreIydd UGd: 3 UR renfdd gesil & IR SIfvm ©

Ucil 31c<] AP D AAR - &6l D fe1u pu oR) BRIf A v @R 39rdar 3, b Iar &l WI=sll UR €161 BIGA Dol D ATA - AT YdAIRT
ADRICAD d YeAgl Usll U= off €Alol AT 3 ""deol aigsaliad 3R 316 fAgasiell GRI fassdo, fajifel, orRkRueE, 31k - snmlRuamar ik ast
a® b AarefiRa® wu A & 31 ywEIs Yol &I 3R U 31v earet I Hiold FaR B aR i Ud agd ool oIeIiRI Qigd alar 3 Sit sIfern ysi d yad
W13 (arscs2 1979) 33 YPR 3180 @ dl? UR 31 Jbcldwl 3R urcfofar Szl fawril & Jar siezriel ol Jifésemeiadr @ 3eRel GRI
JAdfera fown siron @nfde  (sussiorast 1984), e il diqudr deoiifer, et siit cmaARie ardl 3 yeasrar iz Fusedr &l seIrR1 Algea
fareferar rafdra axcdt 3 Ul srect 3E D gl A fareff Far & siefer, Far i frstrer 6t e, Fa - e fRrlemsmy e - frsFon
3R 3 &I DI YooK Dol b o=t 3iiR 3iferes aenr g 3Mf2re Fute AR ASd YPRIHAD 3 31erdl oldl; UR dc & srn 3 (Jack1 ud
3, 1990)

33 AYE DI Dol 3 b FAoIa AR < 3rerar <t A siferd YRPIPRI SR UzruR F3s1 G Ron i A IRda1, HAZeA iR AW BcdH ofdl 8 cafepAl
@D R oIl DI 3HISIol - YgTol 3ronfecd , forpged, fRISTaicurd] ik SUTARICAD Aol @ +U  IuRIPH 9ff 3l ADar 3 Adenca® AR D
frgrell @1 el AsadiR®, uili¥eferdia iz yonell Rigia snenfra 3 s dFar 3ierier B yga sieefidaia @ sioeu bl 3, 32l vas drur A
Yell 31e<l APg D ia:fprcas Rigia o1 IR 31ERI6l UR 3feIa> I ofdl 361 & <R 9Nl 3 Ygd: gHId D 3cdYvl UR &ATel diga fdpr
SId 81 3 3 faudid, sia:fgncaes Rigiader o1 snerr Aguia: 3ol YobrR @ Yool oI 3tk Soll & 3 a8l A 3 ded &l <Ire a1 Al oo
Uil 31cCY T AT A FATIDBI 3 FIRILRT D AaR oNeneiforoT it JRRI: YoIIa B 31ERIl A AT 3, Iorpl Uferap &6l it w2or 3 =il
foreer wa1 3 el srcc @ ofteneff uas - Rofikr gfereu @ Frocs 3 goemma ofter @ RRYer i 3 "ae ads 3 s wrar 3 6 v va 2t ame (Fa - AS9r
- HIEAH - APJED) Dl RRAR FAarR & ¥ gfersu’ & 3u I o1&l e sk 6 326l Agifere gfereuur & el off udlervr &bt srdgmail @1 g1 ordl
fop=n 3R &6 b 331 AR - Hder D Agedl D Yol:39RVI Dl d6Tol B IRt 91 - 293 IUmUT @ WU 3 fplR1da o srn ' (acil, 1977, gso
12) v fGolia gieRau 3ioolRIcl, YRR 3iIR SIoRIKIR 31ERIeI @ folfdrd felcayel AHUYTD 8l Al 8 [dbod 5 de @ 1G9l yfeReu @ ulvIeRaReu
Qg R s Ramdr sod: Adel ik uRruR gera &t gfipan @ wu 3 Aloia AarR B gofel B sioReu ol &

Why did the Palo Alto group not recognize SMCR as a theoretical model?

Uil 31 T of CATAHALIIR. (FYA-AS9I-ATEII-3MPJeD) DI Agiferas gfersu &t Arezrar a=il o1t &t ?

[Question ID = 2194][Question Description = S2_qSNz_PG_MCJ_Q99]

It was a linear procedure /s 3xifr yfepen oft [Option ID = 8773]

It was not related to Palo Alto group's work/z Ueit sicel Mg @ oierdrf 3 idférd ol em [Option ID = 8774]

It was only to stimulate one person, i.e, the receiver/?s ddacl vd R 3reiid smPED (YR @I der@r Jof @ forfdrt e [Option ID = 8775]
It was for remembrance purposes /3 a1 330l & Yeisieef em [Option ID = 8776]

A W N -

Correct Answer :-
e |t was a linear procedure/s ¥ gfcgen ¢ff [Option ID = 8773]

5) Read the given passage carefully and answer the questions that follow

One important lesson for communication study from the work of the Palo Alto group is to focus on problems of
communication, as well as on the presumed positives. "The attention paid by Bateson, Watzlawick, and others to paradox,
confusion, manipulation, noncontingency, and even disinformation...suggests a very different way of looking at human
communication from that which has reigned in recent wisdom" (Wilder 1979). So, for example, communication study of such
topics as self-disclosure and openness should be balanced by the study of ambiguity(Eisenberg 1984), deception, and
deviousness. Certain situations like diplomacy, love, and business negotiation call for deliberate ambiguity rather than
directness and clarity. The perspective of the Palo Alto group presses for an awareness of equivocal communication (Bavelas
and others 1990), an understanding of communication pathologies, search for the nature of self-referential contradiction
like paradox, and to question whether more and clearer communication is always functional.

The group states that human communication is not just conscious, intentional, and successful as a step towards mutual
understanding by two or more participants. The exchange of information between individuals can also be nonverbal,
unintentional, paradox-creating, and useful as a therapeutic technique. The perspective of the relational communication
scholars is cybernetic, ecological, and based on systems theory. It does not fit with the dominant epistemology of
communication study, which is one reason why the interactional theory of the Palo Alto group has not had more impact on



communication study. The dominant focus of communication research is on investigating effects. In contrast, interactionist
theory seeks to answer an entirely different kind of important question. This difference may explain why the Palo Alto
group has not received more attention by mainstream communication scholars in the United States, who are chiefly
concerned with studying effects.

The Palo Alto scholars oppose effects research, cast in terms of one-way models. "It could be argued that S-M-C-R (source-
message-channel-receiver) was not extended as a 'model’ of communication, that it met none of the tests of theoretical
modeling, and that it was developed as an audiovisual aid to stimulate recall of the components of a communication
relationship”(Berlo 1977, p.12). One-way models may be quite appropriate for persuasion, propaganda, and studying mass
communication effects, but the linear causality assumed by such directional models does not fit with a version of human
communication as interrelationships and as a process of mutual influence.

Sii<I fSu 31U SIEr9l Pl &AIgdd UGm? 33 UR TETed Yl @ Ik IS :

Ucil 31c<l AP D AUR - 3EAol D fe1u fpu sR) DRIl A v fGar suar 3, b IFar b AaF=sll U €161 BIGA Dol D AT - AT YdATRT
IPRICAD d Yol Ugll U off &ael Sar 3 "'dedel aicseniad 3R 36d fAgasiell gRI fassdon, faujifa, oriznee, 31 - stoRaomar” sk Jst
a® & arERee wu A & o1 Y JYaolr 6 3R 3T 310 161 A Aol AR B aR 3 U 95 f3eol Tl Qigd alar & Sl sifern Ysi 3 gyaa
W3 (arscs? 1979) 33 YR IS B dlR UR AIcH Ym0t iz urciOfar Sit fawril & JdarR sieriel @t Afeseneiadr d> 3ol GRI
JAdfera fopn sien anfde  (smssierast 1984), e siik diqual @eofifer, Ja ik canlRie ardaf 3 geaeidn ik Fuscdr & SeIRI Al 9A
fsrefopa M3 St 3 Uci sicel 3Pz D Hool I Lyarell sar &t sepfer, ar Rpfr Rister B Jeiwst, T - i RRemny e - fisgeon
3R A 91 DI YoIoId Dell b TR 3i1R 3fea aer eipd 2D IUTS AR Acd YDRICHAD & Al olél; UR dc f$ar sk 3 (daer=1 va
3o, 1990)

$ T DI Dol & 1ob Alold AR S edr 3 A 3UfeUd YernBrIl grRI uruR Jast &l fSon 3 g Ide1, AR 3R ABd o odl 3 afepal
@ A JGI DI 3IGI6l - YgIol AMfSed , forsged, fRSaallcurd iR SUARICHD® Adolid d 14 3 UL 9ff 81 DAl & AUCHAD IAR D
frgrell @1 ol Asaraifed, uif¥eferdia iz yuneht Rigia snenfia 3 s AFar 3erRIer &l yga seefidaiRa & 3ioeU ofdl 8, il v dRur A
Tell 31ee) g D ia:fpRcas Rigia o1 Jar 31eRIel Uz 3iferes gaird ofdl 381 3 AR onel 3 Ygzad: gid @ 3[cdyvl UR &rel diga fdpr

I 361 3 s fudia, sia:fapancae Rigiad«r o1 3mert yguid: fioel YR @ goel @I 30z Jol 3 A ke A 331 ag &l care 3t Ad«dl o
Tell 31l T AT A IFATIDI 3 IXFILRT D AaR onenefforT St JRRI: YoIrd D 31eRIeT A AdfeUd 3, Iotpl U2 &:aTol by dw2or 3 a=il
fawer 361 3 Ul srca) @ onerreff uwap - fBofier yfeeu @ Aocef 3 yoma ofter @ faRier 3t 8 "as aw fam s AAwar 3 o5 v va Al sz (P - AS9r
- LA - APJED) DI fARAR AaR D Wi giereu’ & 3U 3 o181 o sk &b g6l Agifer yfereuur o fp=il off ulgior &1 araeimsii ol g1 o1dt
fop=1r iR 1B fop 321 AR - AdE D IATCDI D Yol:3IRVI DI dGlol D foIfdrd 9T - 299 UMDV B WU d fpRid o sk ' (qedl, 1977, gss
12) uo ol gfereu 3eloRIcl, YaR 31 SoRIAR 31¢RIcI @ fo1fdrd fcmer AAuRIT 3 Adar 3 fpoq 331 aes @ el gfereu @ uf¥vimerrasu
Qigd 31 I RABA sfod: Adeil iz uzeuz gena &t gfipn @ 3y 3 HAlera AR @ 9ol B e odl 3

What would make a theory as per the Palo Alto group's understanding?

Uil 31e<] AP DI AAST D 3MofAR Rigia o forarior fepar com o em ?

[Question ID = 2195][Question Description = S2_qSNz_PG_MCJ_Q100]

If components were isolated and explained/=fe Jfee® et &t iz et wmeen &t o @ [Option ID = 8777]

If effect was intended in a pre-determined manner/f¢ gsira ot snort yd smaenfya & [Option ID = 8778]

If propaganda was included/=f¢ yar @t Afdafer foen srn a1 [Option ID = 8779]

If communication takes the context, inter-relationships and process into consideration/yfegen @i emror 321 sri &1 [Option ID = 8780]

AN wN -

Correct Answer :-
e |f components were isolated and explained/afe 3fEes eI af iz orcht men 6t o a1 [Option ID = 8777]

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ARl 3 fSu o1 3ifds] & smemR uz gosll & Iar SIS ¢



forrarferRaa vl fp=1l fraferenert 3 sremer - srcmT freril 3 (T-uw) PRIz srearu®] @1 gferord sl 3R [eATUD] qell 3eATfdIsi & 3ofurd
Dl yqd @il 8 faeafener 3 qet el & i 1600 & ARl 3 621 3R sifps] @ MR R Yool 1-5 dp D IR S :

31eATUD] DI fASRIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

Rrerr preamuast &t yfereraar (% )siearaw aiiz sreenfr1sil S Rt
A
B
C
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

fererr-C 3 sremmuent bt aget e, farerr-D siie farerr-A 3 aifafera u 34 sreanfiresiasit bt ager e 1 yferora & ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arvil 3 U o1 sifost & smem uz gesil @ 3= S :

forrarferRaa rufl fp=1t feraferenert 3 sremer - 3rcmT freril 3 (T-uw) PRia srearuwm! @1 gfererd dcel 3R s[eATuD] qer reATfieIsii & sro[urd
Dl yqd @il 8 faeafiener 3 @e el &l i 1600 & ARl # 621 3R sifps! @ MR R Yool 1-5 dd D IR S :

31eATUD] DI fASRIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfrisil S Rt
A
B
C
D
E
F




What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 et sremuepl bl Fien $iiR fawrr-A den faerr-B 3 Afdafera su A sreamaowl & e @ dka foden siar 3 ?
[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ARvil 3 fSu 31U Jifds] B MR U= Yooll B IR SIS :

forgaiferRaa ar=vfl fdp=il frafdercrn 3 31 - 31T ferll 3 (T-u) dRRA reAawm] T Yfelord ol 3R 3EATUD] daT eATUI3il @ rolurd
@I yFdd ol 3 faeafdencr i et sieamaml i e 1600 3 wrvil 3 & o1 sifws! @ R R Yol 1-5 b DI ¢ &

3reuasl @I faoRIar &t ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerer areemuast B gferoradr (%)sremucs 3iiz sre=mftrapsit bt gfereraar
A
B
C
D
E
F

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

farer1-F 31 sreznftreptsii &1 Fizsm iz farerr-C 3 sremuept &t dzen & i fapdon siaz 3 ?
[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153



[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifps] @ smeR Uz gesll @ 3az= difsme @

forarferRaa vl fp=1l feraferenert 3 srerer - 3rcmT eIl 3 (T-uw) PRIz srearum] @1 gferord s 3R [eATUD] qell 3eATfIsii @ 3rourd
@l yqd @il 3 faeafdener 3 @e sreamael & iwn 1600 & ARl 3 621 9R) sifos! @ MR R Yool 1-5 dd D IR S :

31eAUD] DI fARIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfererar (% )siearaw siiz sreenfr1sil S gl
A
B
C
D
E
F

What is the total number of male teachers in the University?

freaferenert 3 sreamaml &t et iz fpaott 3 ?
[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
e 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|




A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arRufl # fSu s1u sifws] & smeR U gosll & 3az difsme @

forgaiferRaa ar=ufl fdp=il Rrafdercrn 3 31 - 3rcrel f[erll 3 (T-uh) dRRA eIl BT Yfelord ol 3R 3EATUD] dal eATUPI3il &> ourd
@I yFdd @l 3 faeafdencr i et sieamaml i e 1600 3 Arvil 3 1 o1 sifas! @ R R Yol 1-5 b D IR S &

31Ul oI faoRIar |t ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

Rrerr areemuasi B gferoraedr (%)sremuds 3iiz sre=mftrasit bt gfererdar
A
B
o
D
E
F

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 sreanfUrepisii &bl Fizenr @ gfererd o siofurd frerr-D 3 sreamaasl &t e 1 Rpaen 3 ?

[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4.5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IEATUD HRI UIS D YddlduT & Skrel Ydfer & ufaderefierdr sterar siarar oot fop21 Hu 3 Siren sirar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
1. Thinking curriculum/Ridet urgeags [Option ID = 14521]

2. Instructional variety/siféferes fafderar [Option ID = 14522]

3. Comprehension/zm@=t [Option ID = 14523]

4. Procedural knowledge/yfegerees sier [Option ID = 14524]

Correct Answer :-

® Thinking curriculum/Rider uigerapa [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

$IIRCI IRDR D IS FJIeR—I FRI Aaferd w33l . (MOOCs) ygral @20l 3d ¥ad (SWAYAM) s @ @i @l dollol (f3sirsfoisr) @ fere
foparor agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]



2 Quadrants/2 agefm [Option ID = 14525]
4 Quadrants/4 aqefe [Option ID = 14526]
6 Quadrants/6 agefa [Option ID = 14527]
8 Quadrants/8 agefe [Option ID = 14528]

A W N -

Correct Answer :-
® 2 Quadrants/2 agefm [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

Sfi St weret fou are 3 ¢
Dl - | : R Ef sraren @ U A 4 ad bl 39 D arerd I fapmofia Faia & Wil acd U6 Fare U= 3id 3

@l - |l : Jeensii & yfa Aafe vw dicid cRIdaR €161 ofdl SdI, dl 3cYRUI TR DaHsIR Bldl 3 3R 3fod 3 sdoll BR Sidr 3 o ol I Yol
Ieyfea ordl fopan s I 3R A6 guizu A fagy 8 smar

SURITb Dol D 3Iclid H, ofldd U s1w famcul 3 A Jt IR BI wRIel HBiferw :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/epera | 3 |l Sieif 2t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/@eret | 3z || Sloil slera & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/werwr | 3@t 3, fbog @eret |l siera & [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/@em | srer &, fboq @eret |l 3t & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/@em | 3iiz | cleif 3t 8 [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |[IV. Episodic Memory
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et - et -1l

(@ o1 sxpter 2ideht digy) (zaf yor)

A. Aot |, siafoifda gfer
B. 3ol Il. orifaftre Fgfa
C. Goflr wiorer (Hier RFavc) Il. Jo=rep Fgfer
D. smcarepyd IV. wiRnBs Tgf

il fou o1e fyseul 3 A A8 IR gfor ©
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll, C-1,D - Il [Option ID = 14533]
A-11,B-1,C-1l, D -1V [Option ID = 14534]
A-1,B-1l,C-1IV,D- Il [Option ID = 14535]
A-11,B-1V,C-Illl, D-1[Option ID = 14536]

A wWwN -

Correct Answer :-
© A-IV,B-1ll,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:



RIGERAIS! 329301 B I FHsiolcA® 81 3 $of 3391 I Aafaree fopan sirar 3 ¢

A. Fcaidel

B. s1c=r forerfzur @on
C. aa=n

D. =remefar

E. sior

il feu aru el 3 2 Al Ia= goi ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/daa A, B, C

[Option ID = 14537]
2. B, Cand D only/@aa B, C, D

[Option ID = 14538]
3. A, CandE only/daa A, C, E

[Option ID = 14539]
4. C,DandEonly/@ae C, D, E

[Option ID = 14540]
Correct Answer :-
e A, Band Conly/adac A, B, C
[Option ID = 14537]

6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

9lleI @ STl SId &3 HHRAHD iR difcac zftcdIvil A T 3 MR YgoiRT el uz earer dfoga dd & dl A fovoifcRaa 3 3 o= eI Siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/amlarg [Option ID = 14541]

2. Ethnomethodology/spstfeifesier [Option ID = 14542]

3. Constructionism/3izdeicaasar [Option ID = 14543]

4. Positivism/forzricamar [Option ID = 14544]

Correct Answer :-
e Feminism/emRiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

Rp2ft uf¥acen & Jder 3 BRI B RR ol 3 Riftioa USRI, sr¢RIeT ARl FereiiR 3k ARl fRicIRIl & Hilsiel &I wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

1. Triangulation/fegystor [Option ID = 14545]

2. Content analysis/fwer 2mesf fasdwor [Option ID = 14546]
3. Corpus/mra [Option ID = 14547]

4. Mediation/aezerar [Option ID = 14548]

Correct Answer :-
e Triangulation/fester [Option ID = 14545]

8) ldentify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

bace? fereayur df dogm UG B fo1e wedl @ Adladr oI usdrel @3 :



A. wsider Aaw & YD DIcta A UID! DT ATGer fBrpTet

B. sida @ Jifcad bl svren b3

C. oremi ot ApTwd (T) Y @3

D. yrw @i & Aerwa @t (T) & aolaer 31 R o3

offa fou o1 frpeul 3 21 & 3a= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

1. A, C, D, B [Option ID = 14549]
2. C, B, A, D [Option ID = 14550]
3. B, A, C, D [Option ID = 14551]
4. B, C, A, D [Option ID = 14552]

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il

A. T - .

Arbitra I. Number of individual items are developed into
4 a test which is given to a group of respondents

approach

B.

Consensus |ll. Scale is developed on an ad-hoc basis

approach

C. Item lll. Chosen on the basis of their conforming to

/Analysis  [some ranking of items with ascending and
approach |descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . L. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

et -1 B et -1l A e Hifde
et -1 et -l

A. aefRed ||, 3icIeT-31ctaT 1) &bl IIsAT DY U ure 3 faeRia o sirar &
efScmror fSrRY STecransil & 3>s oI = sirar 3

B. Jdasara

Il. acel smenz uz Yatrol @l faslRia faeen
dacel e uz 5101 1

C. 35 farasuvr ||, R 3R RISl RvicoRl 91fth A3 o A6t B Yuiiasur
eftcmIur (DI 3GIHUAT D MR UR TRIfoled

D. Fierit IV. ferzaa @ onfdrer dol D fere gofl 31 AT DI HeAicdol DI D
Erac fere forutizrept o1 totet

il fou a1e fyseul 3 I At IR gfom ©

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-1ll,B-1l,C-1,D-1IV

[Option ID = 14553]
2. A-1,B-1IV,C-1,D-1ll

[Option ID = 14554]
3. A-1L,B-II,C-1I,D-1V

[Option ID = 14555]
4. A-IV,B-1,C-1ll,D-1I

[Option ID = 14556]
Correct Answer :-
e A-lllLB-I,C-1,D-1IV
[Option ID = 14553]



10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

il St werel fRu e 3 :

werd - | fgamendt Fizsn yorredt o1 smemR 2 3

werel - |l : fgamendt eI, gowicrd Siis @ AT 8l 3lar 3 Brary sad s forer orbl a1va &
IWRID Bl D el 3, ofid f5u s fRrvedl 3 A A8} IR DI wRIet HifSe :

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14557]

Both Statement | and Statement Il are false/@emr | 3iiz || Si6il sRir & [Option ID = 14558]
Statement | is true but Statement Il is false/@ere1 | 31 @, fpoq @eret |l sRir & [Option ID = 14559]
Statement | is false but Statement Il is true/wesl | sRI=I 8 , fbog et |l A= & [Option ID = 14560]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are true/aewr | sl |l Gleif 21 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

TRIdl DI AHIETG] Dol D e v e D sl 31ferp A siferp selluan¥e sICTe-ygIel 361801 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 3iuor a1 [Option ID = 14561]

. Horizontal communication/giférst 2iquur @1 [Option ID = 14562]
. Risk communication/sif3aer 2iquur a1 [Option ID = 14563]

. Personal communication/dzfepe 2iuur a1 [Option ID = 14564]

A W N -

Correct Answer :-
e Vertical communication/3eaferz 3iywor @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:

forgatferRaa 31 3 b2l usarer aifire AYHUT Blored & Hu 3 &I et 3

A. TGRS HIHT BT GRIBT

B. smepféar

C. Blsd® @ Folcll BT Yraeiet

D. ¥a=i &t 91 ot

E. di®oRIica® 91t &I YRIBT

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, Band C only/dqet A, B siiz C [Option ID = 14565]
. B, Cand D only/asaet B, C siiz D [Option ID = 14566]
. C, D and E only/aaa C, D siiz E [Option ID = 14567]
. B, Cand E only/@ae B, C siiz E [Option ID = 14568]

A w N =

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14565]

13) Given below are two statements

Statement I: Body language is the basis of deceptive communication.



Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofid <1 Dot Ru sme 3 ¢

@erel - | ADBID UIdI, 3PID HIUT DT 3MER BXcdl 3

el - |l : Sr-aifRies JAd>dl o sraet e sref dxar 3

SWRITP Pl @ 3MIelld i, ofld 3w s1e Rl 3 A A8l Iar I a6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

1. Both Statement | and Statement Il are true/eret | 3iiz || Sloil 31 & [Option ID = 14569]

2. Both Statement | and Statement Il are false/@emr | 3ii2 1l Gleil sRicr & [Option ID = 14570]

3. Statement | is true but Statement Il is false/@erwer | 31 & , fpoq Pt |l s & [Option ID = 14571]
4. Statement | is false but Statement Il is true/mepol | sRI=I € , fboq el || A= & [Option ID = 14572]

Correct Answer :-
e Both Statement | and Statement Il are true/eer | aiz |l Gleil 21 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AYHUT &t YR B A8l G bl usare 3 ©

A. 1318 9jzen

B. Fisirera 9jact

C. sruoru gjdcn

D. wwa ¥is gfzdacn

oA Ry s1e Riecdl # A a1 a2 goi ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

B, C, D [Option ID = 14573]
C, D, A [Option ID = 14574]
, C, B, A [Option ID = 14575]
D, A, B [Option ID = 14576]

A wWN =

)

Correct Answer :-
e A, B, C, D [Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics lll. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSte :

oxet -1 et -l

(3qeror 9)fdri) (farorrard)

A. urfda |. JAquor Fusf

B. uof farstror Il. JA3rpeit & S AYuor
C. srefgea lll. Jd>dl &l e

D. widfers IV. areif 3 dfera

oifaY feu o1u fasedl 3 A A8 3R gforo :
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]



1. A-1l,B-1,C-1V,D-lll [Option ID = 14577]
2. A-1Il,B-1I,C-1,D-IV[Option ID = 14578]
3. A-IV,B-1ll, C-1l,D-I[Option ID = 14579]
4. A-1,B-1IV,C-Ill, D- Il [Option ID = 14580]

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5 3.5, ___

8, 6, 4.5, 3.5 @ 3IrgIaA # 3HICH Dlol-AT 3D B ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1/1 [Option ID = 14581]

2/2 [Option ID = 14582]

2.5/2.5 [Option ID = 14583]

3/3 [Option ID = 14584]

A wWw N -

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

X @ ura Y @I Aa1 361l 3 3R Z & ura X oI @1 3fell 3 A Al & ura Alafera su A 613 Z, Y sz X @ ura agaier: fodol 8 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A WN -

Correct Answer :-
e 25, 16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

U WpIcl 3 U Aftb @l G gu ofddr of @al, 96 3 A &I 9¢l @I HI1$ 3 3A AP A DI @I o= f¥ear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
1. Nephew/adls [Option ID = 14589]

2. Cousin/adxr aié (avfdror) [Option ID = 14590]

3. Uncle/arar [Option ID = 14591]

4. Son/yq [Option ID = 14592]

Correct Answer :-
e Nephew/sredls [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement IlI: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofi &1 perer Ru sme 3 :

@l - | : b Bieic # Rpl Slar a1 &l fBere &t 33, de Bt J$ A 5° el 96 Sl 3

el - | @ af fiere sl @R &t Jgsai v & Rrerfer 3 3me) agon 9s @l T Al Slell Iyt 64 Bioic a6 v, g A ficith
SWRITP Pl @ 3MIelld 3, ofld 3w s1e Ripedl 3 A A8l Iar I M6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

Both Statement | and Statement Il are true/erer | 3z |1 Sloll 31 8 [Option ID = 14593]

Both Statement | and Statement Il are false/@memt | 3z |1 Gloil 3Rt & [Option ID = 14594]
Statement | is true but Statement Il is false/er1 | 3 8 , fboq @eret |l sRir & [Option ID = 14595]
Statement | is false but Statement |l is true/mepol | sRI=I € , fbog el |l A= & [Option ID = 14596]

A wWw N -



Correct Answer :-
e Both Statement | and Statement Il are true/@serwr | siiz |l reif 31 & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 314500 at a loss of 20%. The cost price of the mobile is $18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choaose the correct answer from the options given below:

FafaRad eyl R ffER &

A. T SR H g1 713 46% B e, dH IR H &1 715 10%, 20% 3R 25% Fel & R 3

B. Uh HISISd Bl 20% ®1 1i- U 14500 ¥ H &9 9T &, Hidlgd &I AFTd §ed 18225 % &
D.afE g, g gea @1 1l g1 28% &

il fu U fydedl & € W81 S I :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. A and B only/dact A siiz B [Option ID = 14597]

2. B and C only/dact B siiz C [Option ID = 14598]

3. Aand C only/aact A siiz C [Option ID = 14599]

4. Aonly/dqae A [Option ID = 14600]

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person’s beliefs and his circumstances?

forgsiferae 31 3 Blel-AT AP I 3 il AP D frardl sk ulFaferil @ dl Jider ol b @ 3

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]

1. Argumentum and Baculum (force)/smofdica us dqeta (9ifep) [Option ID = 14601]

2. Argumentum ad Hominem (circumstantial)/smfdicat Us difdowt (aR¥fRerferse) [Option ID = 14602]
3. Argumentum ad lgnorantiam (ignorance)/simjdica Us seeilicrel (stsierdr) [Option ID = 14603]

4. Argumentum ad Verecundiam (authority)/smfiics esdgfSa (gifiisr) [Option ID = 14604]

Correct Answer :-
e Argumentum and Baculum (force)/smsfdica s dqeta (oifep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® arall @ KGRI gt 3 Al "op IcTa Adear o1dl ' 3RIT 3, dl forvoifeiRaa 3 2 b1 ae DI A8 Ael ST ADdr 8
A. "mft AT AAdeIan ' 3RICA &

B. "o Acxa e &' Aca 8

C. "3l s1ge AqcIan &' A

D. "®I$ AAcTa Acacr oidl &' wca &

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]



A and D only/dbaet A siiz D [Option ID = 14605]
A and B only/dact A siiz B [Option ID = 14606]
B and C only/asaet B iz C [Option ID = 14607]
C and D only/aaet C 3fiz D [Option ID = 14608]

A W N -

Correct Answer :-
e A and D only/dae A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

fogatferRaa wiol-A1 B¢ awaral @ PR 3R PR DI A8 3U I YIdd Bl 3 ¢
eft camurd) sirea-fearh aa 3

sied-ferearat f3a oFf off waftp enfifes orét Sran

sAfere o1f ot enBies cafes MUl o1&l dar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - Il

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]

Correct Answer :-
® AEE - |

[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

sirer sfogal &1 JsrRIar A ucrelf & ar 3 SR gra wdr 3 sfogdl @ sif¥dca genivra fdewn sitar & foraot 3 A fopaad gt :

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
Anumana Pramana/sepie gommur grt [Option ID = 14613]

Sabda pramana/erss ygmor grer [Option ID = 14614]

Arthapatti Pramana/sterfufer grar [Option ID = 14615]

Upamana Pramana/3usirel ggmvr gt [Option ID = 14616]

A W N -

Correct Answer :-
® Anumana Pramana/sigjeret ggvr g1 [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Siiel @ fop31 Fa3U Bl 316 Siiol I ABRIAT A e o1l fos= Simar 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
Perception/yeret [Option ID = 14617]

Inference/ st [Option ID = 14618]

Word-testimony/s1eg gamor [Option ID = 14619]

Comparison/3udtet [Option ID = 14620]

A wWw N =

Correct Answer :-
® Perception/ygret [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:

A. The interface-allowing communication between the user and the computer



B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI Afredsr o der d et gferferftre smuieer Rrrea &t froruarsii 3 foraifeRaa onfirer ait 3
A. R et - glepI @ BRI D dia AYwvr b sigpfer Sard

B. A313l ydtrot - gileI 3l 338 Yoyl 3iiR sfips] @ fere sieifeas ISl (3= € wdn) b sirdcol SR a1l AR Sa1sAA UR 3iibs] &l Yol:gufix
q 4SRUT

C. Jarerol Fsrcton - uf¥eliRr 3arsAl (se1ye a 3n3eyc 3arsA) I forifeld wen a uf¥dl Sarsil @ fére gRIPT soR1el ®I HHIcTol
D. scvole uga - $eolc U= AAi D R AuS ygrel del

il fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/dact B, C siiz D [Option ID = 14622]
A, B and C only/@aet A, B iz C [Option ID = 14623]
A, B and D only/@aet A, B 3iiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, CandD only/aact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

et -1 B 3l -1l A R Hife

et -1 et -1l

(ferarzot) (SuITD Awoildl ug)
A. Staydic Sellel @ feru cisdsl feraell BRI acs arss |

A9 Uz 31 S -
B.étﬁtm@&@ﬁm@éﬁﬁ%@ﬁ@ﬂsm”'@ﬂaﬁ

(DI IR ol dIcl PRICT

C. $colc WR giAfiie ud widic Sl arer SISt d1 (. el

- . Ta.é.uA.TeL
D:Qmmshqzhﬂaﬁﬂaﬁmmsm@t V. < ks

IR G FATeIGll DI VaRIR/ X0l B A Folldl Bl

offc feu oru fpedl 3 A 8 3R gfore :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-llLB-IV,C-1,D-1l



[Option ID = 14625]
2. A-1,B-IV,C-1I,D-1l

[Option ID = 14626]
3. A-IV,B-lIl,C-1,D-1I

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-
e A-Ill,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

NS DURKE D #Fed @u 3 fordifpa s Rarsie o waf¥ea difsme:

A. SdE

B. 3ft3L - 3w

C.s13

ofi fou a1 feeal 3 A A8t S gt ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

. C, B, A[Option ID = 14629]
. C, A, B [Option ID = 14630]
. B, C, A[Option ID = 14631]
. A, C, B [Option ID = 14632]

A W N -

Correct Answer :-
e C, B, A [Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

il S perel fdu sre 3 ¢

el - | @ v sifafest Rieear aftdzear @l forafoqa wear 3, ik A 3l YRR AIRT BT Aol BT &
@l - |l : v sifmfest Rizcar $edic YaiA yglol @ &

SWRITP Pl @ 3MIclld 3, ofld 3w s1u el 3 A A8l Iar I a6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14633]

Both Statement | and Statement Il are false/@emt | 3z |1 Gloil 3Rt & [Option ID = 14634]
Statement | is true but Statement Il is false/aere1 | 3 @, fboq @eret |l sRir & [Option ID = 14635]
Statement | is false but Statement |l is true/wepl | sRI=I & , fbog et |l A= & [Option ID = 14636]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are true/@erwer | iz 1l Glaii 31 & [Option ID = 14633]
30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple

alternatives?
forgatifcpa 31 2 Dol IUYTP SiL.Y IS, (el YR $CWA) Tcd & Sl dg [l I A T DI Jolol A YISI fep=nr Sirar &

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
1. Scroll bar/>a@jer arz [Option ID = 14637]

2. Push button/gor geat [Option ID = 14638]

3. Progress bar/q@)t ar [Option ID = 14639]

4. Radio button/3f=0 gcat [Option ID = 14640]

Correct Answer :-



® Scroll bar/¥®fet ar [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgoiferRaa 3 3 Dlol-AT ABT URT Jorell fAfdb0T Ysiiaet @ BRI o1&l BT & ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierctt oiter [Option ID = 14641]

2. Melanoma/demian [Option ID = 14642]

3. Ocular damage/%iq gifer [Option ID = 14643]

4. Erythema/ca@fepar [Option ID = 14644]

Correct Answer :-
e Bronchitis/earorcft ofter [Option ID = 14641]

32) Match List | with List I

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

R lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -1l
STeT Yguel I asf 3c180T / SRR
A. ABIoIP PRD |. argsiidt sftamy grr fafea wrdfsrs srufdre

B. sifa=fisiol a1 @2l arcx

e Il. 31, craul, faurp enqsii @ AR

C. detl & 1. Sftarvy, yofiary (Qdsisn) ol scnfe

cea
D. stet 3 getorofter IV. Stet 3 gerorofier arsee 3R Bizwe ddre scnfe
SIepTefored RARIT bt arfer g @ 3

oiiI f¢u aru famedl 3 A A8 IR ot :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-Iv,C-1I,D-1lI

[Option ID = 14645]
2. A-1L,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-1L,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1l,C-1I,D-1

[Option ID = 14648]

Correct Answer :-
®© A-I,B-IV,C-Il,D-1ll

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity

Statement Il: Denitrification reduces nitrate to nitrogen gas using bacteria



In light of the above statements, choose the most appropriate answer from the options given below

ofid 31 Dot Ru sme 3 :

Dol - | : afd:3ra &t spEiforn fuarpar # giy ssdiaur o1 ufyvma 3

@l - || : Remsdiaur # Siarvy oI gIeI B2 olis¢e Pl olisglslol 311 3 IUaR[ @ &
SWRIP Pl @ el d, ofld 3w s1e Rl 3 A A8l Iar @I a6t HifSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/@emt | 3iiz I Gloif 28 & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/@erwr | 3iR 1l Giali sieta & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/emet | 31t 8, fpoq et |l siea & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emt | sci @ , fboq et |l 2@ & [Option ID = 14652]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/emt | 3z | cleif 28 & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

teTdol Qb SIS g 3 31T 3uriieT 3rufdrse Siel A aRIr 9Ly @l 3 v sirar 3:
A. itfa forcifera oY1 ugrelf @t seror 3

B. 31ig Sifadbr o1 Blas @ fore

C. e itz ot (3fis1) @t et A

D. St @ srzeril wolar al serol 3

oA R s1e Riescdl # A 31 & a2 goi

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

1. A, B and C only/daet A, B siiz C [Option ID = 14653]
2. B, C and D only/d@5aa B, C sfiz D [Option ID = 14654]
3. A, Band D only/@act A, B siiz D [Option ID = 14655]
4. A, B, Cand D/A, B, C aiiz D [Option ID = 14656]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 14653]

35) Match List | with List I

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C,FH;3Cl; Il. Halons
C. CoF4Cly Il. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 il
Bilsiiol gifea ucref Sies

A. C3HF7 I. HCFC
B. C,FH;3Cl; Il. 3clicaa
C. CoF4Cl; Il. HFC
D. CF3Br IV. CFC

ofla fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1l,B-1V, C-1ll, D - | [Option ID = 14659]
2. A-1V,B-1,C-1,D-Ill [Option ID = 14660]
3. A-1,B-1ll,C-1l,D- IV [Option ID = 14657]



4. A-1lll,B-1,C-1V, D -1l [Option ID = 14658]

Correct Answer :-
e A-1,B-1ll,C-1l,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g S9I STel Uz I g Fverneil &l Jatfers Jiven 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/smea [Option ID = 14661]

2. China/<fler [Option ID = 14662]

3. USA/zeare. [Option ID = 14663]

4. Russia/za [Option ID = 14664]

Correct Answer :-
e |ndia/sma [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

fosifeiRaa @Y IoId> 3160l A DBITGATGRIR RAaiyerd Hifsie

A. 3Icher 3RIBeT

B. Jscr MBI

C. Fioprer wriga (fore)

D. wrsic Alston  (vetror)

E. gs 330

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

E, A, B, D [Option ID = 14665]
,E, B, A, D [Option ID = 14666]
E, B, D, A [Option ID = 14667]
B, E, A, D [Option ID = 14668]

)

)

M=
'aNaKaNg)

y by

Correct Answer :-
e C,E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC
B. NMC

C. NCERT
D. AICTE
E. NCTE

Choose the correct answer from the options given below:

forgotferRaa 3 A wia A Aifaftrs Brorr 3 :
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1e fraseul 9 31 & 3a= goi ¢



[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

1. Aand B only/@>act A siiz B [Option ID = 14669]
2. Cand D only/@qe C 3iiz D [Option ID = 14670]
3. Aand C only/@ac A siiz C [Option ID = 14671]
4. D and E only/d@ac D iz E [Option ID = 14672]

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 it 2t &t remuen foper 329 @ fere g 3 ?

A. Sor 3 3a foren 3 sreeet 3R slayddioil @l SGIAl Soll

B. farafdemcril {3181 @ HIeIdl ®I WdtoarIal, forerfzur sz Sxasmar

C. Tor 3 Ica fAren ae uga B! dGTel

D. frafiencril 3iiz Sicsil Bl siolcloll @l fraur weoel

E. 3@ aen s IRERI SR Iad fren siffent el & dia dstayy odl & wu 3 a1 gl Bl
ofi o s1u fwedl & A A8} IR @I wRI6l BT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

1. A, Cand E only/aact A, C siiz E [Option ID = 14673]
2. A, B and C only/daer A, B iz C [Option ID = 14674]
3. A, B, Cand D only/a@aet A, B, C 3iiz D [Option ID = 14675]
4. B, D and E only/@act B, D siiz E [Option ID = 14676]

Correct Answer :-
e A, CandE only/aaer A, C siiz E [Option ID = 14673]

40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR |ll. Promotes research in History

C. ICPR |lll. Promotion of quality in Technical Education
D. ICSSR |IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera HifSie :

el -1 et -1

A. AICTE |. coforom & 3roIRieiel Bl dGTol

B. ICHR II. sRrara 3f aropienor o1 agron

C. ICPR Ill. aooficht forgm bt spurasr oI derar Join
D. ICSSR IV. srnfSie forsimell 3 siofRiens o aGiell

il fou o1 frseul 3 3 A IR gforw ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D-1IV[Option ID = 14677]
A-11,B-1l,C-1V, D -1 [Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-Illl, D-1[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2



1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& a10 sren9r o ug iz ofid 3w s1w yesil & 3az 3 :

ATHISID SfECPR U &g - IRIEH 3raemRun 8 Sii AFgui Sor 3 fafaer wul 3 siaradret e, APIRIE, ASEiie iR ARG - AP
DRIl @ faf¥ioot uscysil oI AdAIase Dol DI TRV & $AD Acd D fe1e el §U; AT 9156, Iol A Sl Mffp, AHIRIPG IR ARDID WU A
afdcma APl UR eArel DiGA D 3 3R AT & Az 9166 ARAIRID WU A d183l vl B Jorchl F-erfer A ars2 formictol @1 @RI B2l ard ddq U
€161 DG DI 3 i D AT NRTRIT D oAl 3 IR WU 3.gd A AR il RIU 3 96 gu U I RIgTell I &1l6l gra @2 @& 3 s
9rec bl 3eufer, araa i Pz dwolidl gecd 3R nffe gerizasir @ dcrd 3R - MNP AT d AHIRID Dl D Joeld Fa>3U DI
Yol3[@ENRUIl Sollol @ U YRR @l Yaidfa il 3 3crs2ur @ fere ulkme Arenfore fRravse & wos wolisye sicll gfigam o siopsia @2 a1 3 St
sAfeIe 31 26T & aRIIfs asi cid FIRT Bl ASPIEL, TGAT AYARIGT 3T BCANIPEI I A WS seol &I sifcfaf?ril urft s 28 & weraeu o=t
el ARNRIB APS! BT 35d Al W 3 3R A gl @ dfa 3 fAafdiost wu 3 sI6r s 3; ot siienfPre aifle’, ‘sigarRil’, ‘ofeidl A3E’, 'vwa
siftrrae’ affaa A oRi AP AI=Ns o gy D Ade I AP afdsor i wRI a6 Rl 3 As! 31 HeTayul g Feuare kR & F geaa
TRIT ARV 3 oRIT 9Nf3ret 3Ir 3 Sl fedwuT GRI siéidl, 3RIIeIdl, ddel SIfS @ SIA eI URURPIA BAA® O dad ofdl Yglol fabam s
ADAl GIRI 3R 3uferp AsTayvl, b o= 321 sraerRvn @I PRIk uf¥geRn A [ert craven (Afcer) @ sifelym fraiiya fepan st aden ? o= a8
IR Bl A A <31 Gt = S Aden, v Wt Refer Rrml agizse et acft 3 23 v ¥l Rafer Rrmil agizsae et si¥lq @l ? Fuse U
3 SRNdl, 3RIATGIAL, ddol serl 3R rEIATl ardl Hdf2ia Fei R fprRT firauvr 3 *mue »u A &« $ar srr 3

The concept of social exclusion is multidimensional because of:

ATHISID SfEDR DI IJGEMRUI b DRI A Jg3IRIeE 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

1. multiple groups to focus on/fifder el we dfga [Option ID = 14681]

2. variations in deprivations/deen @ Fawu 3 fieorar [Option ID = 14682]

3. the prevalent notion about social outsiders/mnfSi ¥u 3 aEst clbll & ar 3 yaferd s@ervn [Option ID = 14683]
4. social statuses across nations/2iguf Sor 3 JmnfSrp Rerfer [Option ID = 14684]

Correct Answer :-
e multiple groups to focus on/fafe wEl e dfga [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.



23 s1Q srerior @I ue 3R ofid f3u a1 yestl B 3az S ¢

ATHISID SfEDR U §g - RGN sraemRun 8 Sl AFgui Sor 3 fafaer wul 3 si¥Faraaret sniRie, ARNRIE, IEEiite ik ARG - APkt
PRIl @ faf¥icor uacy3il ®l Aefese Bol Bl RV 3 $AD Acd D 1w Hel gu; A6 9153, Iol AP il fdfp, AP 3R ARG WU A
afdcamda APl UR eArel DIGA DI 3 3R AT & As 9166 ARAIRID WU A a8t Izl B Jorchl R-21fer A ars2 formictol @1 BRI B2l ard ddq U
€110 DI DA 3 BiA D TSl INRGRAT D Rl H PRI 14 Igd A8 JALIRUN Uil R i a6d gu U # RIsrell @1 &aret Y @2 3 & s
9re¢ bl 3eufe, araa i Pz dwolidl gccrd 3R snffa Yerizael @ e 3R - MENPBRD AT d AHIRID Dl D Joeld Fa3U DI
Qol3IaeIRuII Jollel B U YARI DI Yoidfa dadl 3 3creur o fere uf2pr aenfoie firavser & v wefisya aidl gtz o1 sepa @2 61 & Sil
gAfe1 3Y 261 3 Wilfs dal cid FIRT Bt RASEIS, TGl FYARTT 3z BeaAinEl AT A i sear & sifcifaferl urft s & 2 Garaeu oY
el ATHIRID ST BT 3G 3l I 3 R A IRI D i 3 fafdioot U 3 Sire! S 3 'ofa Siienfe s, ‘srgarfl’, ‘seidl J9s’, "voa
siftrira’ uffaa A oRl AP AI=s o gy D Ade I AP afdsor 3 wRI a6 Rl 3 As! 31 Asrayel g Feadre kR & F gaa
TRIT AEMRUN 3 ok 9Nfdret dXar 3 Sl feaduur grRI siéidl, 3RITeIdl, dae sfe @ SIA 3if2rd USURPId BHAD D dad oIl Ygiol b= sir
ADAl GIRI 3R 3ferp AsTayvl, fb o= 321 sraerRvn @I PRIl uf¥ggRn A fert craven (Afder) @ sifefym fraiiya fepan st aden ? o= a8
IR bl 3w A <fdrur b e S AN, v VAl Rerfer Bradl sgizr® oller erofl 3l A v ¥l Rerfer Br1dl sgrizsa® ofier s31dle @l ? Fute WU
3 SRHHEl, 3RIATGIAL, ddol sel 3R SEHIATSI darcl a2 Fei R fdRT irduvr 3 *mue »4 A &ae $ar sk

The new reflection on social exclusion has emerged from

s afdsbr Uz o - fRidel @waf A Icusol g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sifelisfiasaur yfdpen [Option ID = 14685]

The arrival of new scholarship in sociology/3meiston 3 ol uif$eI (IpIcRfSm) @1 3meEiel [Option ID = 14686]
The technological impact on societies/ 3wl w2 awofiht ysma [Option ID = 14687]

The changes in the nature of social inclusion/mfSip el @ Fasu & dcerra [Option ID = 14688]

A wWwN -

Correct Answer :-
e The industrialisation process in Europe/zRlu 3 siielsfiasur yfepen [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

A 31U srener o ug iz ofid 3w a8 yesil & 3a 3 :

AP Jf3ePR U §g - RIE sraenzvn 3 it Aegul Sor 3 fafeer wul 3 sidaraarst e, APIRID, ISl it ARl - Ao
DfIrRIl @ faf¥col uscysil @I Afase dol Bl TRV & $AD Acd D fe1g Wl gu; As 9166, Iol AP il i, AP MR Arpiad wu A
qfdcayd APl UR &A1l DIGA DT 8 1R ATA Sl A6 9166 ATHAISID WU A d1831 clIsll DI Jorhl R-eIfer A q182 formIctol I BRI w2l ard e U
2161 DIGA B & BiA D TS NI @ crdl 3 TR WU I gd A6 aeon el IR d a6 gu U d g6l o1 et gra o2 3 3 sa
9rec bl Ieufer, araa I P awolidl dca 3R e gerRizae @ e IR - MENPBRD A 3 AHIRIP Bl D Joekd FasU DI
Yol3IaeRuIl Jollol & U JRIRT Dl Yoldfda ol & 3erseur & fere ufkin wmenfores foravsa & v goflsyd aXdl gfepzn o1 sigfsia @2 a1 3 Sit
gAferg 31 a1 3 dilfes dal cid FIrRT Gt RASEIS, Gl FYARTT 3R BeAIBE AT A NS sear & sifcifaferi urfl sir 36 2 Gazdanu oY
HNE ATHIRID AHBI DT 35 8l W1 3 3R d gIRI D dia 9 fAfdiost 34 3 Sirel S 3; 'ofd SiENRp s, ‘siyaril’, 'sfsircdl J19s’, "o
siffiraes’ uftaa 3 oril ArenfSie Aazasl © giy @ Ade A Ao afdemr 3 T 96 skl 3 A8t 31 Asragul #E Fearet fdar &> gaa
TRIT ALIRYT 3 GRIT 9Nf3reT BT 3 il feauuT GRI si¥idl, 3RIIIeIAl, ddel scfs @ S 3If2fd URURPIA BHAMm B dad ofdl Yglol fapa s
ADAl GIRI 3R 3ufp AETayvl, b o= $21 sr@ervn @I IR uf¥ggRn A f[erT craven (After) o siferfye fraifya fepwn s aden ? =i a8
IR Bl aE A cfer Gt = S D, v ¥l Rrefer Rrml agizsre oot eofl 3 3 v ¥l Refer il agizsae et si¥la al ? Fuse U
3 s8I, 3RTHAToIAl, ddel aerl 3R graAarsii arcl Hdfea el uR PRI Rreaduur # wIue U A &arel 6 sri 8

The post-industrial society and economic restructuring have contributed for
IR - JENBID AATS 3R N> YorRizel of fepaad feru APl f$ar 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]



The reconsideration of employment issue/3JseR #8 w yeifdar [Option ID = 14689]

Strategies aimed at social integration/3miufSie wdbiaur &q cféra wekferif [Option ID = 14690]
Fragmentation of welfare state/@wcamimil 31 @1 Raza [Option ID = 14691]

Social disintegration into new deprived groups/sra dfera gl 3t JAwnfSre fausat [Option ID = 14692]

A W N -

Correct Answer :-
® The reconsideration of employment issue/3JspIR #g w Yoifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

A 31C srenior oI UG 3z ofid 3w s18 Yol & 3az ¢ :
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The scholarship on social exclusion has gone beyond
Ao afdspr uifdca (FapicrBb) s3ad W &I gor 3 ¢

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/r®rRI &I uga [Option ID = 14693]

2. The conventional thinking/uwuzmera 2ra [Option ID = 14694]

3. The normal issues of deprivation/dden @ 3mwie 38 [Option ID = 14695]

4. Common perspectives of inclusion /@1 @ e u¥Ye=r [Option ID = 14696]

Correct Answer :-
e The reach of governments/3R®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.



Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The concept of social exclusion is now
ARG afdsor & eI SIaenon 3

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdkr clisii uz e fawer (efier) [Option ID = 14697]

2. Anissue of developmental capability/fd@ricares et @1 agr [Option ID = 14698]

3. A commodity for export from the North to the South/3a= 3 sfér &t @w foria @ o azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df®a®m ¥awu arefl, uf2wil siem:t 3 a8 Siedt g8 [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/?RIdlI cilell w2 dfga fawrr (eftsr) [Option ID = 14697]





